UGC NET 2022 ADULT EDUCATION

Topic:- 46_PARTA_S1

1) Full form of APA is

e & b ik B

[Question ID = 10901][Question Description = 101_46_Adult_Edu_0CT22_Q01]
1. American Psychological Association

[Option ID = 13601]
2. Alternate Psychologieal Association

[Option ID = 13602]
3. American Physiological Association

[Option ID = 13603]
4. Alternate Physiological Association

[Option ID = 13604]
2) Which of the following fisures deseribe the perfect negative correlation”
Frefefen o d & o ol e smas o w2

[Question ID = 10902][Question Description = 102_46_Adult_Edu_0CT22_Q02]

[Option ID = 13605]

[Option ID = 13606]

[Option ID = 13607]

[Option ID = 13608]



3) Learning that is usually self directed, independently pursued and unregulated. often with the
purpose of solving problems is called as

Praferfign § & 35 sty =t w71 S0 w91 2 9 9 A w T TERE 2, T s 2 T an, sAtpRs
% 3k S =g wHE TEE % verd ® fE Sl

[Question ID = 10903][Question Description = 103_46_Adult_Edu_0CT22_Q03]
1. Formal learning

o= sy

[Option ID = 13609]

2. Informal learming
sFtT=E anum

[Option ID = 13610]
3. Nonformal learning

it Ak

[Option ID = 13611]
4. Work place learning

Fr-TEw wem

[Option ID = 13612]

4) The Zila Saksharata Samiti’s was established under
Forem =g afifs Frfafn & sty w28

[Question ID = 10904][Question Description = 104_46_Adult_Edu_0CT22_Q04]
1. The Co-operative Act 1948

el aEs 1948

[Option ID = 13613]
2. Bocieties Registration Act 1860

HraTEd T wffas 1860

[Option ID = 13614]
3. Bombay Public Trust Act 1952

Ha g gee At 1952

[Option ID = 13615]
4. Voluntary Society Act 1961

e wrETEd Aties 1961
[Option ID = 13616]

5) Shramik Vidyapeeth were established. for innovation in Adult Education Programme to meet
the needs of

Tig frgra FriEn # qaEn wg Feefafan & 8 G smarasmst § ool iy el

[Question ID = 10905][Question Description = 105_46_Adult_Edu_0OCT22_Q05]
1. Teachers

-

Taverart

[Option ID = 13617]
2. Students

-

E1El

[Option ID = 13618]



3. Workers

sl

[Option ID = 13619]
4. Women

ot

[Option ID = 13620]

6) The National University of Singapore (NUS} launched the schaol of continuing and Lifelong
Education—— in the year.

Ivrer A s Ty (S ) 3 e T e v e (wH )
[Question ID = 10906][Question Description = 106_46_Adult_Edu_0CT22_Q06]
1. 2000

[Option ID = 13621]
2. 2002

[Option ID = 13622]
3. 2015

[Option ID = 13623]
4. zp11

[Option ID = 13624]

7) The literacy programme was further modified to incorporate 20 points programme in the year
Ta wwEn A S T od 20 o welEm % we o waaie g
[Question ID = 10907][Question Description = 107_46_Adult_Edu_0CT22_Q07]

1. 1g84

[Option ID = 13625]
2. 1986

[Option ID = 13626]
3. 1989

[Option ID = 13627]
4. 1983

[Option ID = 13628]

8) Who invented the Law of Comparative Judgement?

Frlilea Fane % g #1 afaures fees e an?

[Question ID = 10908][Question Description = 108_46_Adult_Edu_0CT22_Q08]
1. Likert

AR

[Option ID = 13629]
2. Thurson

qeH

[Option ID = 13630]
3. Edwards

LEEE

[Option ID = 13631]
4. Bogardus

-

ElUEs



[Option ID = 13632]

9) ‘“Education for All' was adopted in the vear
Tt = fom e Fem o o =61 8 -

[Question ID = 10909][Question Description = 109_46_Adult_Edu_0CT22_Q09]
1. 2001

[Option ID = 13633]
2. 3020

[Option ID = 13634]
3. 2000

[Option ID = 13635]
4. 2002

[Option ID = 13636]

10) National Adult Education Program (NAEP) was launched on
i sitefirer FEEn (W v d ) fFm af sy gan

[Question ID = 10910][Question Description = 110_46_Adult_Edu_0CT22_Q10]
1. 26% Jan 1977

26 F==f 1977

[Option ID = 13637]
2. 25 Oct. 1978

2 A 1978

[Option ID = 13638]
3. 1= May 1988

17% 1988

[Option ID = 13639]
4. 1= May 1986

17 1986

[Option ID = 13640]

11) The National Education Programme in 1978 was launched with a Target of achieving
Literacy for million of Adult illiterates.

Ty Fngr wider 1978 1 Fetfefias e S 9@ T 73
[Question ID = 10911][Question Description = 111_46_Adult_Edu_0CT22_Q11]
1. 120

120 fafer= e Ry

[Option ID = 13641]
2. 100

100 it e Fres

[Option ID = 13642]
3. 150

150 fifags oz Fa

[Option ID = 13643]
4. 130



130 fufm oitg Fren

[Option ID = 13644]

12) Which is not the formula of Standard Deviation in the following -
o fagem F g Fefofen dd s @ =4 2
[Question ID = 10912][Question Description = 112_46_Adult_Edu_0CT22_Q12]

1. /Ei
N

[Option ID = 13645]

2. E_,fa'g
V\ N

[Option ID = 13646]

i
3. ’Efx _¢?
N

[Option ID = 13647]
4 | E= |
N

[Option ID = 13648]

13) Which hypothesis is tested using chi-square test?

TR T WG B i o] W & Wg EE R
[Question ID = 10913][Question Description = 113_46_Adult_Edu_0CT22_Q13]
1. Normal Distribution Hypothesis

[Option ID = 13649]
2. Independent Hypothesis

[Option ID = 13650]
3. Equal Probability Hypothesis

[Option ID = 13651]
4. All of above

[Option ID = 13652]
14) Suppose that the mean weekly pav of 5 brothers (after deduction) i= U.S. Dollars 60. How
much money do the brothers take home?
o= wifan & uf= wrea & arates grae (36 % =) = o 60 7.um. w3 3w e ol =
CEEich A
[Question ID = 10914][Question Description = 114_46_Adult_Edu_0CT22_Q14]
1. US. Dollars 300
300 3.9, =

[Option ID = 13653]
2. U.5. Dellars 250

250 g4, =heR



[Option ID = 13654]
3. 1.8 Dollars 500

500 .vA. B

[Option ID = 13655]
4. U.8. Dollars 600

600 9,79, =IeR

[Option ID = 13656]

15) Content analysis is a source of
o o P e w e 1
[Question ID = 10915][Question Description = 115_46_Adult_Edu_0CT22_Q15]
1. Primary data
b1 o

[Option ID = 13657]
2. Becondary data

fedra= =2

[Option ID = 13658]
3. Both (1) and (2)

(1) 3k (2) =

[Option ID = 13659]
4. None of the above

ITET  ® FE A
[Option ID = 13660]

16) If the score of a person is 60 and mean of his group 1s 50 and standard deviation 15 5. What
will be his Z score

afs, faft wF zafd 57w 60 # st 3w Ty % e 50 % ofv mes w5 R, A v 2 w=nam
e
[Question ID = 10916][Question Description = 116_46_Adult_Edu_0CT22_Q16]
1. 3o
[Option ID = 13661]
2. 9o
[Option ID = 13662]
3. 1o

[Option ID = 13663]
4. 4o

[Option ID = 13664]

17) A Boxcontains 10 red. 20 white and 30 blue marbles. After a through shaking. a blindfolded
person draws out 1 marble. What is the probability that it is neither red nor blue?

= w9 1 10 7@, 20 9%g ot 30§ #= 2| 36 999 7% @ ffee & 9% = wey, (e aE W
7Zd =l R, 590 W 0 S T 2| W Wi 0 & P g s e @ we @ s & e

[Question ID = 10917][Question Description = 117_46_Adult_Edu_0CT22_Q17]

101

2



[Option ID = 13665]

(]

2. &
3
[Option ID = 13666]
3.0 1
3

[Option ID = 13667]

L -

[Option ID = 13668]

18) Suppose that you are sampling minth-grade yvoungsters for research purposes. There are
250 ninth graders in the school system, 130 boys and 120 girls. What is the probability of

selecting any youngster?
or Hitaw B o e F seEva ® 94 T F el = Fuw = @ 2 fawrem wovr § 94 =@ A
250 farft 2 Fa3d 130 =re 2 2t 120 wifvsr 21 Fedt &= g0 =t =3 90 & 730 Wi 27
[Question ID = 10918][Question Description = 118_46_Adult_Edu_0CT22_Q18]

1
250

1.

=
250
[Option ID = 13669]
120
250

120
250

[Option ID = 13670]
;. 130

250

130

350

[Option ID = 13671]
4. None of them

Iudas § |, F5 TG

[Option ID = 13672]

19) The nature of learning that occurs in places such as the workplace. the community and
different situations are called

i 1 o vt = Wi w e e, 0 59 W W S ol 6, 5% FEe

[Question ID = 10919][Question Description = 119_46_Adult_Edu_0CT22_Q19]

1. Formal learning

T

[Option ID = 13673]
2. Non-formal learning

- aftErer

[Option ID = 13674]
3. Informal learning

it

[Option ID = 13675]



4. Organizational learning
LTS

[Option ID = 13676]

20) Life skill education is needed
e FT FeT saTEe ST wE

[Question ID = 10920][Question Description = 120_46_Adult_Edu_0CT22_Q20]
1. To adopt to one’s own culture

= % g o T A e = s+

[Option ID = 13677]
2. To promote cultural integration

ATCH e T F SRS & T
[Option ID = 13678]
3. To enhance vocational efficiency

T Fem aads & fem)

[Option ID = 13679]
4. To face the challenges in life effectively

e T rErs SR e € F A e %

[Option ID = 13680]

21) Transformational Learning was advocated by
ErAER - Ffm # wE  Reee gu-awels Gy e

[Question ID = 10921][Question Description = 121_46_Adult_Edu_0CT22_Q21]
1. Taylor

i

[Option ID = 13681]
2. Tiedell

[Option ID = 13682]
3. Brookfisld

o [

[Option ID = 13683]
4. Lamoreaux

it

[Option ID = 13684]
22) ‘Critical Pedagogy’ as ‘an adult educdtion programme evolved from
stte foran wrdwn % =0 § e gnme 5 e e ¥ s g

[Question ID = 10922][Question Description = 122_46_Adult_Edu_0CT22_Q22]
1. Social Change Process

[Option ID = 13685]
2. Village based literacy work



TE W =g e

[Option ID = 13686]
3. Boecial Action in the community

oA § e

[Option ID = 13687]
4.  Community Organization

AR He

[Option ID = 13688]

23) Which is not a group of adult learners?
7 & F-m vt st = s g 27

[Question ID = 10923][Question Description = 123_46_Adult_Edu_0CT22_Q23]
1. Goal-oriented

w7
[Option ID = 13689]
2. Activity-oriented

[Option ID = 13690]
3. Learning-oriented

i B

[Option ID = 13691]
4. Transitional

[Option ID = 13692]

24) Which of the following is/are not steps in designing training programmes?
shrger sEFET & ewrs v § fefefen § 9 =09 @1/8 Foy miaw 5 27

[Question ID = 10924][Question Description = 124_46_Adult_Edu_0CT22_Q24]
1. Need Assessment and Training Objectives

[T @ W S5agl o ErEEl 2

[Option ID = 13693]
2. Learning Unit and Learning Events

7 T Al afiom gz

[Option ID = 13694]
3. Training methods and Training aids

wftrg fefira adte wfires gEm

[Option ID = 13695]
4. Performance of problem and assessment

aen 1 e s gee

[Option ID = 13696]

25) TIyan Ilich is renowned for
= o T = fom w3 =8 27



[Question ID = 10925][Question Description = 125_46_Adult_Edu_0CT22_Q25]
1. Life Long Learning

TS HET

[Option ID = 13697]
2. De Behooling Society

me-g7a (Teegie) #ars

[Option ID = 13698]
3. Life Skill Education

Hroa—stae fem
[Option ID = 13699]
4. Distance Education

== o

[Option ID = 13700]

26) Which isnot a distinet measurable aspects of personality?
T H Fi ofea o U Tt AT 97 9Ee A 27

[Question ID = 10926][Question Description = 126_46_Adult_Edu_0CT22_Q26]
1. Physique

-

[Option ID = 13701]
2. Chemique

W (Faw)

[Option ID = 13702]
3. Psychique

A (FEE-TF)

[Option ID = 13703]
4. Temperament

[Option ID = 13704]

27) The phenomenon of ‘Stopping Out’ from Adult Education Programmes refers to
wte frer sl & “Framn T’ (vt wrse) ) whaen Bofefas § @ e s g9 = 22

[Question ID = 10927][Question Description = 127_46_Adult_Edu_0CT22_Q27]
1. Leaving out from the programme

Fwg # HEL TR A=

[Option ID = 13705]
2. Dropping out with the intention of returning to the programme

wiEn dwm wE Srom 2 Bw aa
[Option ID = 13706]

3. Showing disinterest in the programme

FFn § W TeEE F

[Option ID = 13707]
4. Lack of participation in the programme



w1 g &1 %

[Option ID = 13708]

28) Equivalency programme is regarded as

FAUGEE FEFS F T ET H 0 A6 R -
[Question ID = 10928][Question Description = 128_46_Adult_Edu_0CT22_Q28]

1. An Income Generation Programme
T HE-TS HEEA

[Option ID = 13709]
2. A Remedial Programme

TF AT FEES
[Option ID = 13710]
3. A certification strategy

= FHTE S

[Option ID = 13711]
4. A mopping up strategy

T HoAEH F1 wEugia
[Option ID = 13712]

29) SPSS and SAS systems are

s f wm v aflt w uwm e w4 A7

[Question ID = 10929][Question Description = 129_46_Adult_Edu_0CT22_Q29]
1. Sophisticated graphing options

[Option ID = 13713]
2. Programme operationalization technigues

FraEd TETE S

[Option ID = 13714]
3. Data collection techniques

[Option ID = 13715]
4. Data optimization techniques

[Option ID = 13716]

30) When one variable i continuous and the other is dichotomous. we use the following
correlation?

T A 1 A g gt &, freteten weew o ww £
[Question ID = 10930][Question Description = 130_46_Adult_Edu_0CT22_Q30]

1. Pearsons correlation

Sk i3

[Option ID = 13717]
2. PBiserial correlation

B o



[Option ID = 13718]
3. Phi-cofficient

w13 TH

[Option ID = 13719]
4. Poimnt-Biserial correlation

fag- Tt w7 =4y

[Option ID = 13720]

31) Choose the odd one out
Prafetian % foem = 5w :
[Question ID = 10931][Question Description = 131_46_Adult_Edu_0CT22_Q31]
1. Split Half
feecs
[Option ID = 13721]
2. Kuder-Richardson

Foi- e

[Option ID = 13722]
3. Content

s

[Option ID = 13723]
4. Parallel form

[Option ID = 13724]

32) Statisticsis related to
wiferE Fefetas § 2 fren Taftm 27
[Question ID = 10932][Question Description = 132_46_Adult_Edu_0CT22_Q32]
1. Dagits
ErEag
[Option ID = 13725]
2. Words

i

[Option ID = 13726]
3. Lines

o

[Option ID = 13727]
4. All of these

sodsa o & =t

[Option ID = 13728]

33) Suppose that you arve sampling ninth grade voungsters for research purposes. There are
250 ninth graders in the school system, 130 boys and 120 girls. What is the probability of

selecting a girl?
et e o viw sgeve % fom = ) % goef = Avw v @ 2 Frem wonel § o w@ § 250
fwft & Taa 130 o= £ 3tk 120 afemsm #1 fedt o= afem & == 6 ofesm 721 21



[Question ID = 10933][Question Description = 133_46_Adult_Edu_0CT22_Q33]
1
250

1.

[Option ID = 13729]
2.
120
[Option ID = 13730]
1
130
[Option ID = 13731]
1
4, ~oe
300

3.

[Option ID = 13732]
34) A Box contains 10 red. 20 white and 30 blue marbles. After a through shaking. a blindfold
person draws out 1 marble. What is the probability that it is red or blue?
a1 10, 20 9% 20 e+ 3| 998 = =0 R § BeH & 6% O safad, 9ee e W
T 91 B, o8 T T T T el 2| ek ofiel 299 e w5 S Wi 7491 £ 7
[Question ID = 10934][Question Description = 134_46_Adult_Edu_0CT22_Q34]

1 L
2

[Option ID = 13733]

2. 2

3

[Option ID = 13734]
30 1

3

[Option ID = 13735]
. 1

4
[Option ID = 13736]

35) A multicholee test of fifty items provides five responses to each item. How many items must a
subjeet answer correctly to reach the 01 levels?

50 wd % wF = fawe wew § v 7 % o o v w79 2 .01 v = F fom et s
(geswe) =i Bradl ool & Tom 981 397 &1 g ?
[Question ID = 10935][Question Description = 135_46_Adult_Edu_0CT22_Q35]
1. ]_5
[Option ID = 13737]
2. 17
[Option ID = 13738]
3. 10

[Option ID = 13739]
4. :')_.U

[Option ID = 13740]
36) Omn a trip a family average 40 mph for the first hour. 50 mph for the second hour and 53 mph
for the third hour. What was their average speed?
& T F Y0 T IEn Ten 52 F aftes 40 e wfy g, o 92§ 50 g ofs do o de 9o d 58
ofvet Wi 52 o T F A w0 B| e e T e 917
[Question ID = 10936][Question Description = 136_46_Adult_Edu_0CT22_Q36]
1. 49 3 mph



1.

49.3 = 3 =
[Option ID = 13741]
- 482 mph

48 2 Hr= o7 5

[Option ID = 13742]
- 47 8 mph

47 8= wid =a

[Option ID = 13743]

4. 452 mph

45.2 41 Wiw g

[Option ID = 13744]

37) ‘Hierarchy of needs’ was associated with which of the following

arETTEAE w1 TB-HAm s g Feafe o e

[Question ID = 10937][Question Description = 137_46_Adult_Edu_0CT22_Q37]
Kohler W.

FIEH S

[Option ID = 13745]

2. Pavlev.L P.

e e

[Option ID = 13746]

3. Piaget

frrarst

[Option ID = 13747]

4. Maslow A H.

e W,

[Option ID = 13748]

38) Given below are two statements : One 15 labelled as Assertion A and the other i= labelled as
Reason R

Assertion (A)-  Independent variable is an antecedent.

Reasons (R) : Dependent variable iz a consequent.

In the light of the above statements. choose the most appropriate answer from the opfions
given below :

4= % s fim e 2 - v iR (Assertion (A) F =9 1 ffae 2 71 550 5% 599 (Reasons (R))
FEIT
wftrae (A) T = yEan 2

v (R} - e =7 sl 21

T F4F % T 4, A9 fer 0 fEed € 9 weR swaE swmow 9 fif

[Question ID = 10938][Question Description = 138_46_Adult_Edu_0CT22_Q38]



1. Both (A) and (R) are correct and (R) is the correct explanation of (4)

(&) 3t R = w # ot (R), (A) S = e 2

[Option ID = 13749]
2. Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (4)

(A) st (R) 2 = &, wifert (R), (A) it & sarean = 2

[Option ID = 13750]
3. (A) is correct but (R) is not correct

(A) w2, = (R) wé = 2

[Option ID = 13751]
4. (A)is not correct but (R) is corract

(A) =# 7 2, #fF= (R) = 2

[Option ID = 13752]

39) Given below are two statements - Oneé is labelled as Assertion A and the other i= labelled as
Rea=zon R.
Aecsertion (A):  Non-learning oceurs when we take a situation for granted.
Reasons (R) : We act upon it in a taken-for-granted manner.

In the Light of the above statements, choose the most appropnate answer from the options
given below :

= 9 s feg o # « w fiee (Assertion (A)) % 9 § fotgs 2 1 g0 393 # (Reasons (R))

FETT ;
afirsa (A) : -t 7 39 B 2 e Wi faE i s e d (v wee) 59 2

= (R) - 0w W e e A ® e = f)

I WA % e 8, 9 foy e § @ wen s w9 Fie

[Question ID = 10939][Question Description = 139_46_Adult_Edu_0CT22_Q39]
1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

(&) 3ft (R) 1w # ottt (R), (A) i =l v &

[Option ID = 13753]
2. Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (4)

(A) sftt (R) 51 =it 2, = (R), (A) F =6 v 36 #

[Option ID = 13754]
3. (A) is correct but (R) is not correct

(A) 7 B, = (R) 7 =7 2

[Option ID = 13755]
4. (A) is not correct but (R) is eorract

(A) 7 7 2, fm R) &8 2

[Option ID = 13756]



40) Given below are two statements - One is labelled as Assertion A and the other is labelled as
Reason R
Assertion (A):  If there is no form of information, there is ne transformational learning.
Reasons (R) : The form of information that iz undergoing transformational learning needs

to be better understood:

In the light of the above statements, choose the most appropriate answer from the options
given below -

#r= 7 w2 Teg e # - v A= (Assertion (A)) F F9 d fotan 2 7 790 39% =097 (Reasons (R))

FEIH

wfeaT (A) uf G=aT o7 T8 W A WA R S St T8 e R

F0 (R) : T H 9% WEN W SUHTRER AT & =9 H 9w W R, 36 30 o1 °§ e

T # e Bl

Ui FeA o A 4, A R o e § 8 ga sweE s s i

[Question ID = 10940][Question Description = 140_46_Adult_Edu_0CT22_Q40]
1. Both (A) and (R) are correct and (R) is the eorrect explanation of (A)

(&) 3t (R) &= w4 2 ot (R), (A) s = sarear 2

[Option ID = 13757]
2. Both (A) and (R) are correct but (R) is NOT the correct explanation of (4)

(A) sit (R) &1 =1 4, =5 (R), (A) 1 7t = = 2

[Option ID = 13758]
3. (A) is correet but (R) is not correct

(A)udh 2, B R) wh =f 2

[Option ID = 13759]
4. (A) is not eorrect but (R) is correct

(A) =8 i 2, w1 (R) =8 2

[Option ID = 13760]

41) Given below are two statements - One is labelled as Assertion A and the other is labelled as
Reason R
Assertion (A):  Adolescence is a period of stress and storm.
Reasons (B) : Capaeity te acquire and utilize knowledge by adolescents reaches its peak

at this stage of development.

In the light of the above statements, choose the most appropriats answer from the options

given below -



Frat 7 #w fen mn € - o 9fisR (Assertion (A) % 59§ fafiss @ 91 990 395 %0 (Reasons (R)

EoE oy i

sfira (A) - Fraen w9 @ S = e 2

F9 (R) - FH T W e v I g e S W ae 2

S W & e 4, S for e e ged surs 3w % 99 fie

[Question ID = 10941][Question Description = 141_46_Adult_Edu_0CT22_Q41]
1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

(&)  (R) 2w # ok (R), (A) i wft w2

[Option ID = 13761]
2. Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (4)

(A) sitt (R) 51 =it 2, = (R), (A) F =6 v 46 #

[Option ID = 13762]
3. (A) is correct but (R) is not correct

(A)=d 2, 9 (R) o 7 2

[Option ID = 13763]
4. (A) is not correct but (R) is corract

(A) = 4 2, S R) 98 2

[Option ID = 13764]
42) Given below are two statements :
Statement I : Experience is the foundation of learning.
Statement II : Learners actively construet their own experience.

In the Light of the above statements, choose the most appropriate answer from the options
given below :

= @ = for mu # : u i (Assertion (A)) % w9 ¥ foifias 2 9t g0 389 =091 (Reasons (R))

o
wfirem (A) A wfaTm = e

= (R) - A=Al AET 0 2 3w § wg9e B w5 2

T T 5 A A, 59 i e § § g v v e St

[Question ID = 10942][Question Description = 142_46_Adult_Edu_0CT22_Q42]
1. Both Statement I and Statement I are correct

(4) 3t (R) 3 =2 2
[Option ID = 13765]

2. Both Statement I and Statement Il are mcorrect
(A) 2 (R) & w9 2

[Option ID = 13766]
3. Btatement I is correct but Statement IT is incorrect



(A) T 2, =i (R) He= 2

[Option ID = 13767]

4. Statement I is incorrect but Statement II is correct
(A) = 2, @ (R) 7 2

[Option ID = 13768]
43) Given below are two statements :

Statement I : Art 1s indigenous knowledge that cuts across-all cultural contexts.

Statement IT - The Arts are an inherent instinet native to us all.

In the light of the above statements, choose the most appropriate answer from the options

given below :

F o = fem e #

FAL 0w UE S T S ) ot e § veee F

FAll: T s amasismasd i

IutrE w4 & e 4, = R o e 4 8 wed 3w s s Sifg

[Question ID = 10943][Question Description = 143_46_Adult_Edu_0CT22_Q43]
1. Both Statement [ and Statement IT are correct

o 1 ofte 11 21 o 3

[Option ID = 13769]
2. Both Statement I and Statement II are meorrect

w1 [ afkt 11 51 e

[Option ID = 13770]
3. Statement I is correct but Statement I is incorrect

w77 [ = &, &= w29 11 7o 21

[Option ID = 13771]
4. Statement I is incorrect but Statement II is correct

i 1 T 2, Wit e 1D =

[Option ID = 13772]
44) Given below are two statements :
Statement I - Minigturization has driven the digital revolution.

Statement 1T - First Commumication Revolution grew out of oral traditions.

In the Light of the above statements, choose the most appropriate answer from the options
given below -



d= o o= e #
Al g F A w5 = g
FA Il ;WA TEE T A e | e gl o

THIT %S & e 9, 9 i e § 8 wed e s W v it

[Question ID = 10944][Question Description = 144_46_Adult_Edu_0CT22_Q44]
1. Both Statement [ and Statement IT are true

o [ afte 11 5 = 3

[Option ID = 13773]
2. Both Statement [ and Statement II are false

= 1 o 11 51 7= 31
[Option ID = 13774]

3. Statement I is true but Statement IT is false

w47 | w8 3, =itea 799 11 7 31

[Option ID = 13775]
4. Btatement I is false but Statement II is true

4 1 e &, S i I = £

[Option ID = 13776]

45) Arrange the steps involved in the construction of tests in correct order -

(A) Caleulate distance of each item from zero pomt of ability in the trial
(B Compile a large number of problems or test items.

(C) Compute percentage of the group which can sclve problems and convert the
percentage solving each problem into distance above or below mean

(D)  Administer the items to a large group drawn randomly from those for whom the final
test is intended.

Choose the correct answer from the options given below:
afigu 1 = S Sefeted Feal F 54 w0 § seaierd i :
(A)  FEET & SR WG Ay @ S He o g # e S

(B) wmomdl wa g Og 5 UF 99 T F 69 Sae)

(C) 39 @ & Wawd = Wiwed ST 9 AOC # 79 ¥ 9S4 2, 6@ gdw AU & 5uwE
wfers = areg # w0 waa F= F 5 9 giEhtE Fitm

@) T % fon sfom vl fem 2 59 3 angfSes w9 8 o w93 THg W g W e

= few o ot 8 5 swo s = S
[Question ID = 10945][Question Description = 145_46_Adult_Edu_0CT22_Q45]
1. (0, (B), (D). (A)

[Option ID = 13777]
2. (B). (C), (D). (A)

[Option ID = 13778]
3. (B). (D). (C), (&)

[Option ID = 13779]
4. (C), (D), (B). (&)

[Option ID = 13780]



46) Arrange the process of research in correct order

{A)  Identification of problem
(B) Data collection

(C)  Literature review

(D}  Data analysis

(E)  Hypothesis

Choose the correct answer from the options given below:
Y i shea w7 Fe A e
(A)  wmE o TEEE ==
(B) =g F=er &
(C) wiges =iy ==
(D) =13 T wE
(E) e %60

g e o et 2wt v = i

[Question ID = 10946][Question Description = 146_46_Adult_Edu_0CT22_Q46]
1. (C), (A), (E), (B), (D)

[Option ID = 13781]
2. (&), (C), (B), (E), (D)

[Option ID = 13782]
3. (&), (C). (E), (B), (D)

[Option ID = 13783]
4. (A), (C). (B), (D), (E)

[Option ID = 13784]

47) Arrange the following Research Steps’ in sequential order
{A) Report Writing
(B) Preparation of synopsis

(C)  Sampling
(D)  Data collection
(E)  Analysis of data

Choose the correct answer from the options given below:

Fefetias wiy ST & ST sEE i

(&) ufrEs= e
(B) =9y dar S
(C) wfism &

(D) = Sudd F
(B) =ro fsws ==

= fou e owed @ w6 w0 W ST S

[Question ID = 10947][Question Description = 147_46_Adult_Edu_0CT22_Q47]
1. (&), (B). (C), D). (E)

[Option ID = 13785]
2. (B), (C). (D). (E), (A)

[Option ID = 13786]
3. (E), (D). (C). (B). (A)

[Option ID = 13787]



4. (C). (A), (D), (B), (E)

[Option ID = 13788]

48) Arrange the following in sequential order to describe complete socialization

(A) Man to soeiety, Man to country
(B)  Man to relatives. Man to friends
(C)  Man to mankind, Man to universe
(D) Man to sslf Man to family

Choose the correct answer from the options given helow:
o] HETHE i @viE w1 % T Aot = ey § weitay i
(A)  ©EE - EATE, A - o
(B) ur - s, o -
(C) O=E - OHES=d, OEg - gais
(D) urE - =E, O - 9hEre
= fam o feed @ o 3 W =9 S
[Question ID = 10948][Question Description = 148_46_Adult_Edu_0CT22_Q48]

1. {(Cy. (A), (B), D)

[Option ID = 13789]
2. (D), (A). (C). (B)

[Option ID = 13790]
3. (B), (C). (A). D)

[Option ID = 13791]
4. (D), (B). (A). (C)

[Option ID = 13792]

49) Major funections of mass media are

(A)  Tocreate an awareness of problems
(B To widen horizon

(C)  To Raise aspirations

(D}  Asawatchman

(E) To ereate a elimate for development

Choose the correct answer from the options given below:
e Hitea & vaE wd #
(A)  FETH W SRR A e
®) Fm/fafee = Tm
(C)  uwTman 1 =9 e
@) W wErd s
(B) Tomrm 2 ofew = Ffa =
A= Tau T fomel # HE S 9 =eE e
[Question ID = 10949][Question Description = 149_46_Adult_Edu_0CT22_Q49]
1. (A), (B). (C), D), (B)
[Option ID = 13793]
2. (B (C), D). (E), (A)
[Option ID = 13794]
3. (C), D). (E), (B (4)



1.

[Option ID = 13795]
4. (A), (C, (E), (D), (B)

[Option ID = 13796]

50)

Arrange the ‘steps of thinking for getting experience in solving problems.
{A) Formulating possible hypothesis

(Bl  Identifying the problem more clearly

(C) Testing the hypothesis by appropriating means

(D)  Sensing a difficulty

(E}  Collecting relevant facts

Choose the correct answer from the options given below:

HTE % R @y sEvE R e F S S seaite e ;

(&)  Hus gieheea i aiadies e

(B)  fas oywar § @ue (= =0

(Cy  39gFT Wue o WiEeE =1 9T =
Dy e & afs F

(E)  FHiTe: 9501 1 WO FE

= fam o, formet @ w3 = i

[Question ID = 10950][Question Description = 150_46_Adult_Edu_0CT22_Q50]
1. (B). (E), (D). (A). (©)

[Option ID = 13797]

(A, (E), (C), (B). D)

[Option ID = 13798]

- (DY, (B), (E), (A), (C)

[Option ID = 13799]

- (D), (A (E), (C), (B)

[Option ID = 13800]

51)

Arrange the ‘transformative learning eyele” in correct sequence

(A)  Agencies of transmission send data about global, local culture

{B)  Global/local culture changes at varying speeds

(C) Individual integrates learming, knowledge, skills and emotion into biography

{D) The changing and developing persen recelves and process data and information
relation to both physical ability, previous experiences and transforms it

Choose the correct answer from the options given below:

ETEESEM AT TF T T F9 T sToid S

(&) A, = T+ o E we W S Sv-astE

(B) ‘stwafd wheat w wewd g Afes weE wepld

(C) orara ¥ daiaes aamey 3y, ¥ S 580

(D) e o e s o, A gvm oft @ % ama o = 750§ ge T s
# ot o e wo # of e s w A

A= fog o et @ A s = i

[Question ID = 10951][Question Description = 151_46_Adult_Edu_0CT22_Q51]

(B), (A), D). (C)

[Option ID = 13801]



2. (©), (A). (B), (D)

[Option ID = 13802]
3. (A), Dy, (B). (O)

[Option ID = 13803]
4. (D), B), (C), (&)

[Option ID = 13804]

52) Arrange the ‘cognitive approaches to learning” as data processing in logical sequence :
(A) apprehending
(B) retention
(C) motivation
D) generalization
(E)  acquisition
Choose the eorrect answer from the options given below:
T T FH % A W AT 7 FEEEE SO0 S 0 | seead #Eg

(&)  umEy F=

(By wfagmm

(Cy  afimion

D) ameE

E) =1

1 Tou U TeEedl B A 90 A =aE S

[Question ID = 10952][Question Description = 152_46_Adult_Edu_0CT22_Q52]
1. (E), (A). (B). (C), D)

[Option ID = 13805]

2. (C), (E). (A), (D). (B
[Option ID = 13806]

3. (CL (A (E), (B). (D)
[Option ID = 13807]

4. (Cy (A, (B), (B), D)
[Option ID = 13808]

53) Arrange the Learning Ladder in correct sequence
(A) Information
(B) Enowledge
(C)  Insight
D) Data
(E) Understand

Choose the correet answer from the options given below:

e -HfifeTl = w9 9 sgatedT e

(&) =
{B) =M
© 7=
D) =&
(E) wmm

= fow e fowedt | wd I = 594 Sifae



[Question ID = 10953][Question Description = 153_46_Adult_Edu_0CT22_Q53]
1. {(C). (A), (E), (D). (B)

[Option ID = 13809]
2. (A), (E). (B), D) (©)

[Option ID = 13810]
3. (D), (A). (B). (E), (T)

[Option ID = 13811]
4. (B, (D). (A). (E), (C)

[Option ID = 13812]

54) Population education is

(A)
(B)
©
(D)
(E)

Study of demographic changes

Sex education

Family planning

Studying consequences of imbalance between population and world resource
Integration between individuals, family and socisty

Choose the most appropriate answer from the options given below -

m&rﬁ'{%-:

(&) e e gieda 1 s

B) == o

(C) i s

D) —HET wE 3Fes TYE % A9 90T & 5ES 1 SO
(E) wafaa, vimn w@ war & 7o T

r fan v oot 4 # w8 3vgE SO0 H 974 FHa)

[Question ID = 10954][Question Description = 154_46_Adult_Edu_0CT22_Q54]
1. {A), (D) and (E) only

#ad (A), (D) 3 (E)

[Option ID = 13813]
2. (A), (B) and (E) only

Fa (A), (B) & (E)

[Option ID = 13814]
3. (A}, (C) and (E) only

Fae (A), (C) =it (E)

[Option ID = 13815]
4. (A), (C) and (D) only

99 (A), (C) 3t (D)

[Option ID = 13816]

55) Observation is a rigorous scientific inquiry in which

(&)
(B)
©
™

Obzervers are subjective

Obzervations are carefully and expertly recorded

Observations are collected in a manner that they are valid and reliable
Observers separate facts from the interpretation of the facts

Choose the most appropriate answer from the options miven below :



SE Fed A e e

(&) Tus s g #

B) wum T o T o s &

(C) Sgw 30 20 ¥ uF fed 91 £ (998 & gewes 1 fayaee 3

(D) W& F50 o S92 § q20 T TS

= fog m Tow=a 9 ® wEE I9EE I S ¥ S

[Question ID = 10955][Question Description = 155_46_Adult_Edu_0CT22_Q55]
1. (A), (B), (C) only

=5 (A), (B). (O)

[Option ID = 13817]
2. (B), (C). (D) only

@ (B), (C), M)

[Option ID = 13818]
3. (B). (A). (D) only

F54 (B). (A), D)

[Option ID = 13819]
4. (B)and (C) only

3 (B) i1 (O)

[Option ID = 13820]

56) Which of the following refers to interpersonal intellicence?

(A)  Interacting

(B) Drawing:

(C) Communicating
(D) Singing

(E)  Socializing

Choose the most appropriate answer from the options given below :
sauEaT 9g # et § | F9 9 w6 £
(A)  FEEmT
(B)  wEm A

(C)  =matery w0
@) T
() =o-frem

2 fau 7 et 4 A weR Sugw e Fe )
[Question ID = 10956][Question Description = 156_46_Adult_Edu_0CT22_Q56]
1. (A). (C) and (D) only

Fa9 (A), (C) 3t (D)

[Option ID = 13821]
2. (A), (B) and (E) only

S99 (A). (B) it (E)

[Option ID = 13822]
3. {A), (C) and (E) only



Faa (A), (C) &k (E)

[Option ID = 13823]
4. (B), (D) and (E) only

= (B), (D) 3 (E)

[Option ID = 13824]

57) Inthe World Education Forum (Dakar, Senegal 2000) established goals are

{A) Open learning

(B) Early childhood care and education
(C) Distance Education

(D}  Increase in adult literacy by 50%
(E)  Higher edueation

Choose the most appropriate answer from the options given below -

TS W B (S, T, 2000) % S @

@& e
(B) w7 arearam & TE-uTE T e =5 I
(© T

(D) ste mgwE =7 50% FErE
(E) === foan
=t o o famest & @ 798 39w I = w9 Fifw

[Question ID = 10957][Question Description = 157_46_Adult_Edu_0CT22_Q57]
1. (A) and (C) enly

F (A) 3 (C)

[Option ID = 13825]
2. (C).and (E) only

e (C) #itt (B)

[Option ID = 13826]
3. (D)and (A) only

=7 (D) #r (4)
[Option ID = 13827]
4. (B)and (D) only
+Ee (B) Hie (D)

[Option ID = 13828]

58) ‘Community Polytechnics’ aims at
(A) Sustainable Community Development
(B) Mhero level planning
(C)  Woking with mugrant labours
(D)  Providing short term training in skill-oriented trades
(E) Working with women in cities

Choose the most appropriate answer from the options given below :



AT T TTE w5 wE

(&) s wegETes e

B [F @ A

(€) == #E= = g F E=2

@)  wrerd s § s S e
(E) vl o ofienedt % e d

fi= fig ™ fawet # @ TE IE I T ey
[Question ID = 10958][Question Description = 158_46_Adult_Edu_0CT22_Q58]
1. (B). (C) and (D) only

#9e (B), (C) 3 (D)

[Option ID = 13829]
2. (). (D) and (E) only

34 (C), (D) 3 (E)

[Option ID = 13830]
3. (D), (E) and (A) only

34 (D). (B) 37 (A)
[Option ID = 13831]

4. (A), (B) and (D) only
a4 (A), (B) 31 (D)

[Option ID = 13832]

59) Learning experiences are helpfulin

(4)  developmng skill in thinking
B framing evaluation tools
(C) acquiring information

(D)  erigamismginformation

(E)  attaining various ohjectives

Choose the most appropriate answer from the options given below -
(A fommd =hve = fGem wo)
(B)  HraTsA Al (g9) 1 =)
(©) T =
(D) Fred g
(E) fftrs st =1 weg =)

= for et o | wed I S0 W e Hifw)

[Question ID = 10959][Question Description = 159_46_Adult_Edu_0CT22_Q59]
1. (A), (B) and (C) only
A (A), (B) ot (C)

[Option ID = 13833]
2. (C), (D) and (E) only

& (O), (D) & (E)

[Option ID = 13834]
3. (B), (D) and (E) only



44 (B), (D) 8 (E)

[Option ID = 13835]
4. (A). (C) and (E) only

95 (4), (C) 3 (E)

[Option ID = 13836]

60) According to Jack Mezirow, learning is the process of

(A)
(B)
(C)
D)
(E)

Changing behaviour

Learner's previous knowledge
Seeing differently

Malking meaning from experience

New mterpretation of experiences

Choose the most appropriate answer from the options given below :

e T % EmT wftm fe e 27
(&) fEdEfe sqaEn

B sl = @

(© FeETEdaE

(D) vl ® wn e

(E)  omwel & =t saved

4= fou e e O § waE w9 F Ta i)

[Question ID = 10960][Question Description = 160_46_Adult_Edu_0CT22_Q60]
1. (D), (C) and (E) only

#5e (D), (C) 3 (B)

[Option ID = 13837]
2. (B). (D) and (E) only

F94 (B), (D) 3 (E)

[Option ID = 13838]
3. (A), (B) and (C) only

Fa (A), (B) 3t ()

[Option ID = 13839]

(B), (A) and (E) only

== (B, (A) 2t (E)

[Option ID = 13840]

61) Which of the following are the main assumptions that differentiate

pedagogy?

(A) A chanpe is self-coneept

(B)  Readiness to learn

(C)  Imitation from the tender
(D)  Orientation towards learning
(E) Support to be independent

Choose the mest appropriate answer from the options given below -

androgogy from



Rrfefan § 3 o 2 twer g # 5 Gghmh = e 3 grw e 4
(A) = =%eE O giEE

® e ¥ o dma

() Toan = wgw

(D)  wfem F A wgEE

() e 5 = fom =mefa

fra fo e fomed & wawt Suge S90 % ww i)
[Question ID = 10961][Question Description = 161_46_Adult_Edu_0CT22_Q61]
1. (C), (D) and (E), only
Fae (C), (D) ¥ (E)

[Option ID = 13841]
2. (A), (B) and (D) only

@ (A), (B) 3t (D)

[Option ID = 13842]
3. (B}, (C) and (D) only

= (B), (©) 23 D)

[Option ID = 13843]
4. (A), (D) and (E) only

%94 (A), (D) 3 (E)

[Option ID = 13844]

62) Which of the following are the eounselling services?
(A)  Psychotherapy
(B) Referral

(C)  Teaching
(D)  Group guidance
(E) Placement

Choose the most appropriate answer from the options given below :

Fefefam 4 & - wogel = 27

(A) T
B) FmiEs

(€ Tagm

(D) =g aviE=
(E) ==

412 fou e et O § wag Sy 9 A i)

[Question ID = 10962][Question Description = 162_46_Adult_Edu_0CT22_Q62]
1. (A), (B) and (C) only

A (A), (B) ¥ (C)

[Option ID = 13845]
2. (€), (D) and (E) only

Faw (C), (D) &% (E)

[Option ID = 13846]
3 (B), (D) and (E) only



& (B), (D) 3k (E)
[Option ID = 13847]

4. (A), (B) and (E) only
e (A), (B) =i (E)

[Option ID = 13848]

63) Ethical norms of research involves
(A) Patenting
(B)  Thesis publication
(C)  Copyright
(D) APA format
(E) Data sharing policies

Choose the most appropriate answer from the options given below :

Y % AT aEes o T
(A) e T

(B) i =y

(C) =fdnTse

(D) Tuduass
(E) =7 siaf Hifaai

= fou o fowest § & e Iugm SO F w9 Hifau
[Question ID = 10963][Question Description = 163_46_Adult_Edu_0CT22_Q63]
1. (A), (B}, (O only
A (A), (B), (C)

[Option ID = 13849]
2. (&), (C), (E) only

e (A), (0), (B)
[Option ID = 13850]
3. (B), (C). (D) only
%= (B), (C), (D)
[Option ID = 13851]
4. (C), (D), (E) only
= (C), (D). (E)

[Option ID = 13852]

64) The properties of normal probability curve are

(A) The chance events in large numbers tend to distribute themselves in the form of the
curve

(B) The means of the sample distributed unevenly
(C)  Itis abell-shaped curve

(D)  The normal curve for any set of data is referred to as the curve of best fit for that set of
data

Choose the most appropriate answer from the options given below :



(A)  EUEES 9o o F B9 d 99 e =t wd g § foefe w0 f anowgw we
(B)  wiacel = = Tow =9 7 Towie 2 2

(C) =4 % W (&« IE) 9%

(D) 3 T fage wee AasEa 5% T S R

= fou o fomet F & wew v 9 % w9 Fife)

[Question ID = 10964][Question Description = 164_46_Adult_Edu_0CT22_Q64]

1. (B) and (D) only

Faat (B) #i (D)

[Option ID = 13853]
2. (B) and (A) only

A (B) offt (A)

[Option ID = 13854]
3. (A). (C) and (D) only

F (A), (C) 2t (D)

[Option ID = 13855]
4. (4), (D) and (B) only

#a (A), (D) 37 (B)

[Option ID = 13856]

65) “Maxminecon™ principle (the principle of variance) means

(A)  Maximize the systematic variance
(B) Control the extranecus variance
(C)  Minimize error variance

(D}  Control independent variable

(E)  Maximize extraneous variance

Choose the correct answer from the options given below:
‘B figr (e figi) = o
(A) AR W =S Hiews aee
(B)  Eg WO H A FE
(C) oyl s Trerem =
(D) =R = Pl e
(E)  >wag vaw H Fwaq9 d 7 95

3 fou o Rewest @ wd w5 w9 i
[Question ID = 10965][Question Description = 165_46_Adult_Edu_0CT22_Q65]
1 (&), (B), (D) only
e (A), (B), (D)

[Option ID = 13857]
2. (B), (D), (C) only

%3 (B), (D), (O)

[Option ID = 13858]
3. (A), (B) and (C) only

#= (A), (B) 31 (C)



[Option ID = 13859]
4. (A), (D), (E) only

= (A), (D), (E)

[Option ID = 13860]

66) What are the stages of development communication models?
(A) Action
(B) Promulgation
(C)  Evolution
(D} Transaction
(E) Convergencs

Choose the correct answer from the options given below:

forrs Aoy shime e A7

(A TEm

(B) SR

€y F=m

D) fafmm

(E) w=a5

F= fou mu fawedt @ wel 39 % =49 e

[Question ID = 10966][Question Description = 166_46_Adult_Edu_0CT22_Q66]
1. (A); (B), (C) only

#F&d (A), (B). (O)
[Option ID = 13861]
2. (A), (D), (E) only
A (A), (D), (E)

[Option ID = 13862]
3. (C), (D), (E) only

F49 (C), D), (E)

[Option ID = 13863]
4. (B). (C). (E) only

#ad (B), (C), (E)

[Option ID = 13864]

67) Faollowing are Dimensions of education in democracy
(A) Liberty and Freedom
(B) Depentralisation
[{ @] Equality of opportumty
(D}  Protection of Human Rights
(E) Sociolegy for Educator

Choose the correct answer from the options given helow:



stwTs d o % amqm Aetateg 3

(&) =l o =

B) T
(C) 5w = 99
(D) TR

(B) fas % foe sorsems
#3 fou e fowet @ o o =99 b

[Question ID = 10967][Question Description = 167_46_Adult_Edu_0CT22_Q67]
- (B). (C). D). (E) only

=== (B). (C). M), (E)

[Option ID = 13865]
2. (A), (B), (C), (D) only

=4 (A), (B), (0), (D)

[Option ID = 13866]
3. (C), (D), (B), (4) only

#a (C), (D), (B (A)

[Option ID = 13867]
4. (D), (E), (A). (B) only

47 (D). (E). (4), (B)

[Option ID = 13868]

68) The dualist position is that the human being is a combination of

(A) self

B)  body
(C) identity
D) hfe

(E) mind

Choose the correct answer from the options given below:

Trard forfs 5 sgam o o F o 59 99 weees B R

(A) T

®)

€ wEEE

D) =

() m

A2 fo g fort @ wll s e i

[Question ID = 10968][Question Description = 168_46_Adult_Edu_0CT22_Q68]
1. {A)and (B) only

Fo (A) 37 (B)

[Option ID = 13869]
2. {B).and (C) only

9 (B) 31 (C)

[Option ID = 13870]
3. {C)-and (D) only



Fae (C) 3t (D)

[Option ID = 13871]
4. (B) and (E) only

Fa (B) 317 (E)

[Option ID = 13872]

69) Which of the following are the considering factors of curriculum development?

(8)
E)
(©
D)
(E)

studies of the learners

studies of the contemporary life
studies of the aducators
specialized knowledge

studies of the schools

Choose the correct answer from the options given below:

Frafefias 4 2 F-9 wrggsal-fewm & oy feamin 29 o9 w0 #7

()  sfrmwaal & aegEs

(B) THEie SET s e

(C)  The= & asags

(D) =T

(E)  Femrem = weage

= g e et & ) w e i

[Question ID = 10969][Question Description = 169_46_Adult_Edu_0CT22_Q69]
1. (A), (B) and (C) only

9 (A), (B) 3t (C)

[Option ID = 13873]
2. {(C), (D) and (E) only

Fae (C), (D) 391 (B)

[Option ID = 13874]
3. (A), (B) and (D) only

#Fae (A), (B) aftt (D)

[Option ID = 13875]
4. (B), (C) and (D) only

= (B, (C) 3 (D)

[Option ID = 13876]

70)

The Lifelong Learning Institutions serve the following categories of persons

(A)
(B)
©
(D)
(E)

The Neo-Literates

The scheol dropouts

Those who have passed from primary schools

Those who have completad non-formal educational program

All of other members of the community so far as group activities and cultural
programs are concerned

Choose the correct answer from the options given below:



e T gwme st & Fetetas St = 99y 52 %100 2

(&) =E-TE

B) o= s fon g

(© &= s e @ =il g d

(D)  afse T—adtwerios Aeiom s g w0 fon 3

(B) =mea & o w1 oo 5 =g it ot areptes srht § oofe E)

= fom T e | wE I o =S A

[Question ID = 10970][Question Description = 170_46_Adult_Edu_0CT22_Q70]
1. {A). (B) and (C) enly
Fae (A), (B) 3 (C)

[Option ID = 13877]
2. (A), (C) and (D) only

Faw (A), (C) afh (D)

[Option ID = 13878]
3. {A), (B). (Cyand (D) enly

9 (A), (B), (C) 3ftt (D)

[Option ID = 13879]
4. (A), (B), (C). (D) and (E)

(A), (B), (C), (D) 3¢ (E)

[Option ID = 13880]

71) Beli-directed learning refers to

{4)  Adults assuming control of their learning
(B) Experiencing transformational learning
{C)  Promotion of emancipatory learning

(D)  Learning from key life events

(E) Social context of learning

Choose the correct answer from the options given below:

(&) @ e wE-aETE A e
(B) =T @t w W =

(©  =gr-=r (SAfrd) ofem = o
D) e E | e
(E)  =feng = smnas god
#= fou 7 fomed @ w9 39 =1 Fifa
[Question ID = 10971][Question Description = 171_46_Adult_Edu_0CT22_Q71]
1. (A), (B) and (D) only
3 (A), (B) 3 (D)

[Option ID = 13881]
2. (A), (C) and (D) only

Faa (A), (C) 2k (D)

[Option ID = 13882]
3. (A), (B) and (C) only



FEE (A), (B) 3 (C)

[Option ID = 13883]
4. (B), (C) and (E) only

#&9 (B), (C) 3 (E)

[Option ID = 13884]

72) The stakeholders in lifelong learning are

(A) Local and regional government
(B) Universities

(C)  National Government

(D)  SBchoels

(E) Industry and business

Choose the correct answer from the options mven below:
(A) = v EE T

(B fovefra
© = AT
D) =

(E) =7 @ =
At i e el @ w3 = i
[Question ID = 10972][Question Description = 172_46_Adult_Edu_0CT22_Q72]
1. (A) and (B) only
Fad (4) 7 (B)

[Option ID = 13885]
2. (A), (B) and (C) only

5 (A), (B) 3 (C)

[Option ID = 13886]
3. (A), (B). (€) and (D) only

=FHE (A), (B), (C) =7t (D)

[Option ID = 13887]
4. (A), (B), (C), (D) and (E)

(4), (B), (C), (D) = (E)

[Option ID = 13888]

73) Core skills related to lifelong learning are
(A) Continuously upgrading personal skills and competence
(B)  Mentoring programmes to help inerease motivation
(C) Cherising the habit of learming
(D) Activities to celebrate learning frequently
(E) Contributing to the learning of others

Choose the correct answer from the options given below:



He i Ty # watnE Tee S

(&) =EfFaE =i = e = e m

(B) e ge § sEEd S 579 ST 21 909 o
(€ g & 2 =909 =

D) e w7 30 T A A B AT we e S
(B) o % fm § e
:ﬁ&ﬁqm%ﬁﬁﬁﬂmmﬁﬁq:

[Question ID = 10973][Question Description = 173_46_Adult_Edu_0CT22_Q73]
1. (A), (B) and (C) only

Fae (A), (B) 3 (C)

[Option ID = 13889]
2. (B), (C) and (D) only

F54 (B), (C) 3 (D)

[Option ID = 13890]
3. {A), (B). and (E) only

Fad (A), (B) 31 (B)

[Option ID = 13891]
4. (A), (€) and (E) only

w5 (A), (C) =i ()

[Option ID = 13892]

74) A learning society is one in which

(A) Learning is accepted asa continuing activity throughout lLife
(B)  Parents take the responsilﬁ-ilit_v of childven's learning

(C) Shared values are not recognised as a pursuit of knowledge
(D)  Assessment confirms progress yather than brands failure

(E) Leaming is a partnership between students. parents, teachers, employers and the
community, who all work together to improve performance

Choose the correct answer from the options given below:

e =97 =7 #, foe .

(&) =iy =gy Sies Wi T O ST ® =18 mEE

B) s == & afem = g e 5w 3

(C) = ge =1 79 == % w90 A o T A

(D) g gz Fi BreE % w9 W # g ww Ay

E) afem o= afiues, s, Boes @ e € = aEgd §, 9 o osd Pea =
guma F fom wnf =7 w59 #)

A= fom u TR A wE SIS = e

[Question ID = 10974][Question Description = 174_46_Adult_Edu_0CT22_Q74]
1. (A), (B) and (D) only

#99 (A), (B) 3it (D)

[Option ID = 13893]
2. (A),(C) and (E) only

Fa (A), (C) 3t (E)



[Option ID = 13894]
3. (A), (M) and (E) only

Fa9 (A), (D) 3 (E)

[Option ID = 13895]
4. (B). (C) and (D) only

%as (B), (C) =it (D)

[Option ID = 13896]

75) Learning involves transformations of
(A) Teaching aids
(B) Sensations
(O The person
(D)  Teacher
(E) Social situtation

Choose the correct answer from the options miven helow:

Aty H = =R IS e A

(A)  FEEs T

(B) =

(Cy =afaq

D) HEATI

(E)y =mras &

5 feg o faweat ® w1 39 = =99 i

[Question ID = 10975][Question Description = 175_46_Adult_Edu_0CT22_Q75]
1. (A), (B) and (C) only
9 (A), (B) 3 (C)

[Option ID = 13897]
2. (B), (C) and (E) only

Fae (B), (C) 3 (E)
[Option ID = 13898]

3. (B). (C) and (D) only
3+ (B), (C) 3t (D)
[Option ID = 13899]

4. (A), (D) and (E) only
34 (A), (D) 3 ()

[Option ID = 13900]

76) Impact of Adult Educsation can be categorized in the following groups
(4)  Political activities
(B)  Religious programs
(C) Social environment
D) Economie aetivities
(E)  Industrial activities

Choose the correct answer from the options given below:



site firen & wre Frfateg @@ 7 aoieg a7 o awe F
A& T wEEe

(B) s =dwm
(€) = T
D) whiE FwEdwa

(B) =it s
A= fim e ot @ = o ==
[Question ID = 10976][Question Description = 176_46_Adult_Edu_0CT22_Q76]
1. (A) and (C) only
A (A) 31 (C)

[Option ID = 13901]
2. (B)and (D) only

a9 (B) =it (D)

[Option ID = 13902]
3. (C)and (D) only

e () 3t (D)

[Option ID = 13903]
4. (A)and (E) only

= (A) 3t (B)

[Option ID = 13904]

77) Which of the following are the vizual teaching aids for adult learning?

(A) Radio
{B) Electromic Display Board
(C)  Hoardings

(D)  Television
(E) Flasheards

Choose the correct answer from the options given below:

frefetias 4 & 7 9t dte sfameatad 25 e Fgo weas amfiel 27

(A) e

B) g e A

© #fE=

(D) e

(B) v

3 o g ot @ Wl I e i

[Question ID = 10977][Question Description = 177_46_Adult_Edu_0CT22_Q77]
1. (A), (B) and (C) only

F97 (A), (B) 3t (C)

[Option ID = 13905]
2. (C), (D) and (E) only

3= (C), (D) 3 (E)

[Option ID = 13906]
3. (B), (C) and (E) only



a5 (B), (C) = (E)

[Option ID = 13907]
4. (B), (C) and (D) only

Fae (B), (C) 3flt (D)

[Option ID = 13908]

78) In item analysis following imformation are ohtained

(&)  difficulty level

(B correlation

(C)  diserimination index

(D)  effectiveness of distractors
(E)  rehsbility question

Choose the correct answer from the options mven below:

uz, ferverany 4 Fyetefies gaard w2
(A) =i ==

B) FEEEY

(€ fols ==

(D) Tedsr 0 W

() oo mw=

=t fo e foret @ Wl 39w == i

[Question ID = 10978][Question Description = 178_46_Adult_Edu_0CT22_Q78]
1. {A), (C), (D) enly

F9 (A), (C) 3 (D)

[Option ID = 13909]
2. (A), (B). (D) only

3 (A), (B) 3t (D)

[Option ID = 13910]
3. (A), (B). (E) only

w3 (A), (B) 2 (E)

[Option ID = 13911]
4. (B). (D). (E) only

Fa4 (B), (D) 2t (E)

[Option ID = 13912]

79) What are the factors of Job Analysis?

(A) Job Advertisement

(B Study about all the facts of job

(C) Skills, knowledge, abilities required for job
(D) Information related to the specificjob

(E)  Job appointments

Choose the correct answer from the options given below:



S J - WS, SUNBO J.
A =d =

(B W = gdmeE %7 s

(€ = T3 WovEs 2w, 70, TTE

(D) vz s @ getas g=a

(E) = P

= fom 7 Towes # @ w90 I9E I H TG Hio)

[Question ID = 10979][Question Description = 179_46_Adult_Edu_0CT22_Q79]
1. (B), (C) and (D) only

55 (B), (C) 3t (D)

[Option ID = 13913]
2. (C), (D) and (E) enly

et (C), (D) =i (E)

[Option ID = 13914]
3. {A), (B) and (C) only

A (A), (B) (0

[Option ID = 13915]
4. (A), (D) and (E) only

#ae (4), (D) o (B)

[Option ID = 13916]

80) Matech List T with Last I : Choose your answer from the code given below :

ListI List IT
{A) Teaching (I} Repeated association
(B) Instruction (II} Rigoreus discipline
{(C) Conditioming (II) Optimum use of entical faculty of the
learner
(D) Traiming (IV) Svstematic and clear presentation

Choose the correct answer from the options given below :

w15 g =1 g1 fie Fif
-1 =11
(A Fargm @ = wE
(B) F=Im (Il == fom
(C) ¥+ (ITL) A=t &1 wr=r==ms 3T % T I3

(D) wfagm (IV) wseaftas sit oosz vy

Fre o o faweat § | w5 = =g S -
[Question ID = 10980][Question Description = 180_46_Adult_Edu_0CT22_Q80]
1o (A)-(IT), (B)-(IT). (C)-(T), (DH-(IV)

[Option ID = 13917]
2. (AR(III). (B)-(IV), (C)-(I), (D)D)

[Option ID = 13918]

3. (A)-(IV), (B)-(III), (©)-(T), (D)-(ID)
[Option ID = 13919]

4. (A)-(IID), (B)-(D. (C)-(IV). (DH-(ID)



[Option ID = 13920]

81) Match List I with List IT :
Lis=t1 ListII
(A) Experiement (I) Main precaution for valid resuit
(B) Naturalistic observation (II) Inter-observer apreement
(C) Burvey method (IT) Generalization
(D)  Case study {IV) Sample size
Choose the correct answer from the options given below -
afi-1 % wm = a1 fier $ife
RS il
(A) wa () Eeafromy 37 T%7 =9
(B) =i sigm (II) =das ausm
(€ wagm g (IIT) Am=fEm
(D) = A (IV) =facsl sm=m

#r= fou e et o 9 o =90 S Fitag

[Question ID = 10981][Question Description = 181_46_Adult_Edu_0CT22_Q81]
1. (A)-I). (B)-D). (C)-AV), (D)-(I1T)

[Option ID = 13921]
2. (A(IID), Bi-IV), (C)~(T), (D)-(II)

[Option ID = 13922]
3. (A)-D), B)-(IV), (O-1), (D)-AID)

[Option ID = 13923]
4. (A)-{IID), (By-(D), (C-(IV), (D)-I1)

[Option ID = 13924]

82) Match List T with List IT -

(A)

(B)
©

(D)

ListI Last IT
Understanding some field of practice (I) @Quasi-experimental resign
so that it can ‘bring =some
Improvement
Non-Randem assicnement to (II} Control
experiment and treatments is done in
More than one independent varable (III) Action research
is included in
There 1= no randomised assignment of (IV) Factorial design
subjects to groups

Choose the correct answer from the options given below -



@-I%Wﬂiﬁ—ﬂ&lﬁﬂ%:

-1 I
(&) = 3w & wfw @ W wmw A d (1) wiEw g s
(B) = wm w IR eagtes wws (1) B
o e 2]
(C) =t Tl oo = mfee =i 3l (II1) e wie
D) =W wE § fawet = ageow wEa T (V) FEE S
= 2l

412 fou mu et F & wd war % =0 Hifau
[Question ID = 10982][Question Description = 182_46_Adult_Edu_0CT22_Q82]
1 (A)-(ID), (B)-AID, (C)-aV), D)-0)

[Option ID = 13925]
2. (A)-(II0), (B)-AV). (C)-I). (D)-(ID)

[Option ID = 13926]
3+ (A, (B)-(0), (C)-(IV), (D)D)

[Option ID = 13927]
4. (A)-ID), (B)-(D), (C)-(IV), (D)-{111)

[Option ID = 13928]

83) Match List I with List IT -

List I List IT
{A) Continuing Education Programme (I 1988
(B) Child Marriage Restraint Act (IT) 1985
(C) Population Edueation Resources (III) 1976
Centre
(D) Area Development Approaches to (IV) 1982
Extension

Chaoose the correct answer from the options given below -

1% wm w7 g1 firem Hifs

-1 T -1
(&) = T =dEn (I} 1988
(B) wrw fomme ey ofafEg (IIy 1985
(C) e Toey gams ¥ (I} 1976
@O e o &3 s som {IV) 1982
o fom e e O F 98 990w a9 S

[Question ID = 10983][Question Description = 183_46_Adult_Edu_0CT22_Q83]
1. (A)-(IV), (B)-(IID), (C)-(IT), (D)~(T)

[Option ID = 13929]
2. (A)-ID). (B)-(IV). (O)-(I), (D)L

[Option ID = 13930]
3. (A)-I1). (B)-D. (C)-AV), D)-(1I)

[Option ID = 13931]
4 (AT (By-(II), (C)-(TID, (D)-(IV)

[Option ID = 13932]



84)

Mateh List I with List 11 -
List 1 List II
(A) State Resource Centres (SRC's) (I} Training, material  development

research and evaluation

(B) National Institute of Open Schooling (II) Material development and training
(NIOS)

(C) Colleges. Universities, Dept. of Adult (III) Training of functionaries
and Continuing Education

(D) District Resource Units (DRU's) (IV) Curriculum development and
mansgement of equivalency program

Choose the correct answer from the options given below :

-1 % e = -1 e ST

ESiB! =11
(A) = wEE % (A ) Iy whng fago anoft B, 19w gom
B) T g e e dem (W ok @ (D) faew A B w

)

(C) weifommer, fovaloarem, e @ =@ foar (1) wefert sigw

fargm
D) T gamw dord (4 amg) (AV) gzt o @ g Frfm was
4= fon o foEeT § | 58 I W 99 Fifau

[Question ID = 10984][Question Description = 184_46_Adult_Edu_0CT22_Q84]
1. (A1), (B)-(I), (C)-I), D)-IV)

[Option ID = 13933]
2. {AIV), (B)-(T1T), (C)-(IT), (D)-T)

[Option ID = 13934]
30 (A)-(IT). (B)-(IV), (CO)-(T), (D)-(IIT)

[Option ID = 13935]
4 (A)-D). (B)-D), (C)-aV). (D)-(I1I)

[Option ID = 13936]

85) Match List I with Last IT :
List I List IT
(A) Formal Education 1) Extension education
(B) Out-of-school svstem (I} Correspondence traching
{C) Wirtual elassroom {III}) Rigidly class-room centred
(D) Non-formal education (IV) Synchronous
Choose the correct answer from the options given helow -
-1 5 w9 #1511 fiem St
BSIE =L
(A) el e (@ Fecaw fgr
®) Forms = wgh D) wr=E e
(C) o wa (III) wearg 4 S50
(D) e R (IV) Fa=ies

Fr= fom o faweat § | = 59 = =g i -

[Question ID = 10985][Question Description = 185_46_Adult_Edu_0CT22_Q85]
1 (A-IV). (B)-(I), (C)-D), [D)-T)



[Option ID = 13937]
2. (A)ID, B)-T). (C)-(IV), (D)D)

[Option ID = 13938]
3. (A)-1D), B)-IV). (O-1), D)-(IIT)

[Option ID = 13939]
4. (A)-IV), (B)-(IT), (C)-(ITT), (D)-{T)

[Option ID = 13940]

86) Match List I with List 11 -

ListI List I
fA) Three Dimensions of Learning (I Etienne Wenger
(B) Experiential Learning (IT) Paulo Freire
(C) Communities of practice (IIT) Dewnid Kolb
(D) Pedagogy of oppressed {IV) Enud Illeris

Choose the correct answer from the options piven below -

g-1% 7w = g=)-11 e e
i1 w11
(A) A i B O e aE
(B) AT @t (II) wrsei &t
(C) wwmw (YfFem) s wgga (100) s =
@) s = Ry (IV) =12 a3

#= fou 7y omedt § © o 590 @ 9 e
[Question ID = 10986][Question Description = 186_46_Adult_Edu_0CT22_Q86]
1. (ARdD, B, (C)-d1), (D)-IV)

[Option ID = 13941]
2. (A1), (BRIV), (C)-(ID). OH-(II)

[Option ID = 13942]
3. (A)IID). (B)-(ID), (C)-(TV), (D)D)

[Option ID = 13943]
4. (A)-(IV), (B)-(III), (O)-(I). (D)-(ID)

[Option ID = 13944]

87) Match List I with List IT -

List I ListIT
(A) National Adult Education Programme (I} 1888
(B) Committee on Adult Education (IIy 1875
(C) National Literacy Mission (ITIy 1978
(D) Integrated Child Development (IV) 1938
Services (ICDS)

Choose the correct answer from the options given below -



-1 % = = =11 firem e

RS I
(A) T e e FEEe M 1988
(B) ite firgr =fifa (I 1975
(C) =i MaT e (III) 1978

(D) =uy = fawm wam (k6 2 =) (IV) 1938

= fon o ot A © T I o= = i

[Question ID = 10987][Question Description = 187_46_Adult_Edu_0CT22_Q87]
1. (A)(D), (B)-ID), (C)+IV), (Dj-(III)
[Option ID = 13945]
2 (A)-IID), (B)-(IV). (C)-D), (D)-11)
[Option ID = 13946]
3. (A)-(I), (B)-(I), (C)-(IV), D)-1)
[Option ID = 13947]
4 (A)-(IV), (B)-(I). (C)-(I1T), (D)~{1I)

[Option ID = 13948]

88) WMatch List T with List 11 -

List I ListI1
() Organizing principle  (I) Usually bring about several outcomes
(B) Learning experiences: (II) Construction of measurement
(C) The form of objectives (III) Integration criteria

D) Ewvaluation IV} Learner’s needs

Choose the correct answer from the options given helow -

a=-1% wm = ge-11 e Hifa

=1 =11
(A) fagm e we () awEan =3 el Geed 2
(B) wfm-agE (i) = T
(C) =evai =1 =y (I} Tarer gHeE
D) sgEwE (V) et & amavasant
S fom T fowed 4 @ o w0 W =

[Question ID = 10988][Question Description = 188_46_Adult_Edu_0CT22_Q88]
1+ (A)-{IID), (B)-). (O)-(IV). (DH-(II)

[Option ID = 13949]
2. (A)-(I); (B)-AV), (C)-(I1I), (D)-AL)

[Option ID = 13950]
3. (A)-ID), (B)-II), (C-IV), DT

[Option ID = 13951]
4. (A)-(IV), (B)-(II), (C)-(D, (Dy-I1I)

[Option ID = 13952]



89) Match List T with List IT -

List I List T
(A) Directive counselling (I) Client centered
(B) Non-Direetive counselling (IT) Follows a middle course
(C)  Eclectic counselling {111} Job Analysis
(D)  Voeational counselling {IV) Counsellor centred

Choose the correct answer from the options given below -
-1 % e % gE-11 faer it

LB =11
(A) Fsmes wd 0 T S
B) r-Frggrers wme (1) T mea wgmen s w2

(C) wgvefter qogsl (III) =Frd-favsrmm
(D) =T T (IV) Tstara-Fiea
= Ro e e 10 v 3 wraws i

[Question ID = 10989][Question Description = 189_46_Adult_Edu_0CT22_Q89]
1 (A)-aV), B)-D), (C)-dD). D)-11D)

[Option ID = 13953]
2. (A)-IID), (B)-(IT), (C)-(IV), (D)-(T)

[Option ID = 13954]
3. (A)-D), Bi-(D), (C)-(1I), (D)-(IV)

[Option ID = 13955]
4. (A1), (B)-(ID). (C)-(III), (D)-(IV)

[Option ID = 13956]

90) Match List T with List II :

ListI List 1T

{Ay Achievement Tests (Iy Measures -potential ability for
achievement

{B) Aptitude Test (I} Measure culturally weighted
preferences for things, ideas, people
etc.

{C} Personality Tests (IIT) Measure the present proficiency,
mastery and understanding of general
and specific areas of knowledge

(D)  Value scales {IV) Measures traits of an individual

Cheose the correct answer from the options given helow :

=1 % a6 ge-11 e e

-1 11

(A)  Fumfer wigm () =usfey 3 Huvas gy &1 wiew Fo ¢

B) stgmm ghgw (D) aeged, G, &0 oz 5 o vl w0 3 wfe
St % o7 e E

(C) =afaas Wiy () 7= & T o falime &4 % aaum Hgom, wEorE oF 9
F1 AT AT

(D) 57 S (TV) Toeft safew ot fagrem 1 oo =0 2

42 fon o fomedi f 7 =8 399 = 9gA Fitau

[Question ID = 10990][Question Description = 190_46_Adult_Edu_0CT22_Q90]



1. (A)-I). (B)-[@). (CHII). (D)-(IV)

[Option ID = 13957]
2. (A)-(III). (B)-(II), (C)-(D), (D)-(IV)

[Option ID = 13958]
3. (A)-I), B)-AID), (C-IV), (D)-ID

[Option ID = 13959]
4. (A)-IID), (B)-(I), (C)-«(IV), (D)-(1I)

[Option ID = 13960]

Topic:- 46_PARTB_S1

1) Instructions for Q. 91-95.

Basic education i= a new approach to life and learning. People have got into the habit of
thinking of Basic education as if it were one metlod or system of education among others, like
the Montessori Method or the Project Method'. But it is not a matter of method or technique:
Basie edueation stands for a new outlook, a new approach. The fountain-head of all the
world's conflicts 1s that knowledge has been separated from work Thev have been separated
in thought by a- faulty psycholegy: they have been separated in life by a faulty sociclogy.
they have been assigned different market values by a faulty economics.”™

Education should also be closely linked with the natursl environment in order to generate an
atmesphere of joy in living : “True education, then. is bound up with Nature. The test of true
education is the inculeation of self confidence in' learner.

It is entirely wrong to impart Basic education only in the village. The system of Nai Talim
should be introduced in the whole country and for all children : “Tt will not do to have one
kind of education for the villages and another kind for the towns. It will not do to have one
kind of education for the first four years of school life, and afterwards some other kind that is
guite unrelated toit. It will not do to regard this as an experiment to be tried out on refugees
while the rest of the country has something else. We have a right to use the word "basic’ only
if we are agreed that the whole education of the country should be buwlt up on the foundation

of “Nai Talim”™.
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[Question ID = 10991][Question Description = 191_46_Adult_Edu_0CT22_Q91]
1. Policies

it #

[Option ID = 13961]
2. Teacher



AT

[Option ID = 13962]

Learner

el ®

[Option ID = 13963]

Nature

s5f &

[Option ID = 13964]

2) Instructions for @ 91-95.

1.

Basic education is a new approach to life and learning People have got into the habit of
thinking of Basic education as if it were one metlod or system of education among others, hike
the Montessori Method or the Project Method'. But it is not a matter of methed or technique;
Basic edueation stands for a new outlock. a new approach The fountain-head of all the
world's conflicts 1s that knowledge has been separated from work They have been separated
in thought by a- faulty psvcholegy: they have been separated in life by a faulty sociclogy.
they have been azzigned different market values by a faulty economies.”™

Education should also be closely linked with the natursl environment in order to generate an
atmosphere of joy in living : “True eduecation, then. is bound up with Nature. The test of true
education is the ineuleation of self confidence in' learner.

It is entirely wrong to impart Basic education only in the village The system of Nai Talim
should be introduced in the whole country and for all children : “Tt will not do fo have one
kind of education for the villages and another kind for the towns. It will not do to have one
kind of education for the first four years of school life. and afterwards some other kind that is
guite unrelated toit. It will not do to regard this as an experiment to be tried out on refugees
while the rest of the country has something else. We have a right to use the word “hasic’ only
if we are agreed that the whole education of the country should be bult up on the foundation
of “Nai Talim”™.
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Basic education as per the text is a/an
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[Question ID = 10992][Question Description = 192_46_Adult_Edu_0CT22_Q92]
System
AT

2.

[Option ID = 13965]
Method

faf



[Option ID = 13966]

3. Approach

FHITH

[Option ID = 13967]

4. Strategy

iC

[Option ID = 13968]

3) Instructions for Q. 91-95.

Basic education i= a new approach to life and learning People have got into the habit of
thinking of Basic education as if it were one metlod or system of education among others, like
the Montessori Method or the Project Method' But it is not a matter of method or technique:
Basic edueation stands for a new outlock. a new approach. The fountain-head of all the
world's conflicts 1s that knowledge has been separated from work Thev have been separated
in thought by a- faulty psvchology: thev have been separated in life by a faulty sociology.
they have been aszsigned different market values by a faulty economics.™

Education should also be closely linked with the natural environment in order to generate an
atmosphere of joy 1n iving : “True education, then. 1s bound up with Nature: The test of true
education is the ineulecation of self confidence in' learner.

It is entirely wrong to impart Basic education only in the village The system of Nai Talim
should be introduced in the whole country and for all children : “Tt will not do fo have one
kind of education for the villages and another kind for the towns. It will not do to have one
kind of education for the first four years of school life, and afterwards some other kind that is
quite unrelated toit. It will not do to regard this as an experiment to be tried out on refugeess
while the rest of the country has something else. We have a right to use the word hasic’ only
if we are agreed that the whole education of the country should be bwlt up on the foundation

of “Noi Talim”™.
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Separation of knowledge from work has resulted in which of the following as per the text
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[Question ID = 10993][Question Description = 193_46_Adult_Edu_0CT22_Q93]
1. Integration

TRE §

[Option ID = 13969]
2. (Conflicts

Aok o
[Option ID = 13970]



3.

4.

Confidence
e °

[Option ID = 13971]
Reliance

forefr o

[Option ID = 13972]

4) Instructions for Q. 91-95.

Basic education is a new approach to life and learning. People have got into the habit of
thinking of Basic education as if it were one metlod or system of education among others, like
the Montessori Method or the Project Method' But it is not a matter of methoed or technique;
Basic education stands for a new outloock. a new approach. The fountain-head of all the
world's conflicts 1s that knowledge has been separated from work Thev have been separated
in thought by a- faulty psvchology: they have been separated in life by a faulty sociclogy..
they have been azzigned different market values by a faulty aconomies.”™

Education should also be closely linked with the natursl environment in order to generate an
atmosphere of joy in living : “True edueation, then. is bound up with Nature. The test of true
education is the inculcation of self confidence in' learner.

It is entirely wrong to impart Basic education only in the village The system of Nai Talim
should be introduced in the whole country and for all children : “Tt will not do fo have one
kind of education for the villages and another kind for the towns. It will not do to have one
kind of education for the first four years of school life, and afterwards some other kind that is
guite unrelated toit. It will not do to regard this as an experiment to be tried out on refugees
while the rest of the country has something else. We have a right to use the word hasic’ only
if we are agreed that the whole education of the country should be bult up on the foundation
of “Nai Talim”™.
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Nai Taleem is ‘basic only if it applies to
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[Question ID = 10994][Question Description = 194_46_Adult_Edu_0CT22_Q94]
1.

Rural Areas

T g q
[Option ID = 13973]

* Ubran Areas

el & d

[Option ID = 13974]

- Both Bual and Urban Areas



4.

2 o 3t (el &)

[Option ID = 13975]
Linked to people in need of ‘basic nesds

[Option ID = 13976]

5) Instructions for @ 91-95.

Basic education i= a new approach to life and learning People have got into the habit of
thinking of Basic education as if it were one metlod or system of education among others. like
the Montessori Method or the Project Method'. But it is not a matter of method or technique:
Basic education stands for a new outlock., a new approach. The fountain-head of all the
world's conflicts 1s that knowledge has been separated from work They have been separated
in thought by a- faulty psvcholegy: they have been separated in life by a faulty sociclogy.
they have been assigned different market values by a faulty economics.”™

Education should also be closely linked with the natural environment in crder to generate an
atmesphere of joy n iving : “True education, then. is bound up with Nature. The test of true
education is the inculeation of self confidence in' learner.

It is entirely wrong to impart Basic education only in the village. The system of Nai Talim
should be introduced in the whole country and for all children : “Tt will not de to have one
kind of education for the villages and another kind for the towns. It will not do to have one
kind of education for the first four years of school life. and afterwards some other kind that is
quite unrelated toit. It will not do to regard this as an experiment to be tried out on refugeess
while the rest of the country has something else. We have a right to use the word basic’ only
if we are agreed that the whole education of the country should be bwlt up on the foundation
of “Nai Talim”.
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The separation of knowledge from work, asper the text, is done in
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[Question ID = 10995][Question Description = 195_46_Adult_Edu_0CT22_Q95]
1. Thought, Life and Values

fimm, Jtem ot g

[Option ID = 13977]
2. Thought, Life and Market Values

foam, Fiem ot am =

[Option ID = 13978]
3. Life and Values

e aftt e



[Option ID = 13979]

4. NMarket Values

AW T

[Option ID = 13980]

Topic:- 46_PARTC_S1

1) Instruections for @ 86-100.

When a university or a college goes to the community it takes with it a group of people and a
set of services for a certain period of time. [t goes to the commumity to broaden the socio-
cultural perspectives of students and teachers through an exposure to conditions of living and
areas of knowledge which may not otherwise be available to them within their experimental
range; and to bring about specific changes in the area through provision of service and
imparting of information, skills and change n attitudes of the target population in the
commumty.

Youths are beginning to learn the dialect of the people whom they meet during these efforts:
they are becoming aware of the divergent ways of living. food habits, dresz hahitz. et A
number of people look up to them not merely for their and their children’s education, but also
for the various problems eneountered i their daily life. The students participating in some of
the community services have acquired a kind of maturity which seems to come from a direct
exposure to poverty, malnutrition ete. Such societal semsitivity is becoming a marked
characteristic of these students. In some cases. they have not only understood the problems
and hardships being faced by the-people they have also tried to sclve some of these through
legitimate channels of action.

A general impression that one gathers from the community is that most such attempts are
neither area-specific and nor sustained over a reasonably long stretch of time. Institutions
have not “adopted specific areas for their integrated development over a five to ten-years
period Whatever activities are initiated in a given area have not always been followed up:
Meaningful linkage are often found missing in these efforts with the result that these are
neigher highly motivating for the community nor touching upon the pressing needs of the
weaker sections of society.
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The author of text notes that the interactions mode by the programme in reference is
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[Question ID = 10996][Question Description = 196_46_Adult_Edu_0CT22_Q96]
1. Highly metivating
EaE W B

[Option ID = 13981]
2. Appropriate to the needs of the cormmunity
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[Option ID = 13982]
3. Meaningful

ATl 3|
[Option ID = 13983]

4. Neither motivating norappropriate
T WS E AT R T

[Option ID = 13984]

2) Instructions for Q. 86-100.

When a university or a college goes to the community it takes with it a group of people and a
set of services for a certain peried of time. [t goes to the community to broaden the socio-
cultural perspectives of students and teachers through an exposure to conditions of living and
areas of knowledge which may not otherwise be available to them within their experimental
range: and to bring about specific changes in the area through provision of serviee and
imparting of information, skills and change in attitudes of the target population in the
community.

Youths are beginning to learn the dialect of the people whom they meet during these efforts;
they are becoming aware of the divergent ways of living. food habits, dresz habits. etc. A
number of people loock up to them not merely for their and their children’s edueation, but also
for the various problems encountered mn their daily life. The students participating in some of
the community services have acquired a kind of maturity which seems to come from a direct
exposure to poverty, malnutrition. ete. Such sccietal sensitivity is becominz a marked
characteristic of these students. In some cases, they have not only understood the problems
and hardships being faced by the-people they have also tried to sclve some of these through
legitimate channels of action.

A general impreszion that one gathers from the community is that most such attempts are
neither area-specific and nor sustained over a reasonably long stretch of time. Institutions
have not “adopted specific areas for their integrated development over a five to ten-years
period Whatever activities are initiated in a given area have not always been followed up.
Meaningful linkage are often found missing in these efforts with the result that these are
neigher highly motivating for the community nor touching upon the pressing needs of the

weaker sections of society.
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The text refers to how many goals to be achieved by the process of university or a college
going to the community

e 1§ femafamren wue selaaen % wugE 9= 99 9 A g Befaes § 9 e we ae
= HFE 2T



[Question ID = 10997][Question Description = 197_46_Adult_Edu_0CT22_Q97]
1. Four
=7

[Option ID = 13985]
2. Three

A

[Option ID = 13986]

3.

4.

3)

Two
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[Option ID = 13987]

Five
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[Option ID = 13988]

Instructions for Q. 86-100.

When a university or a college goes to the community it takes with it a group of people and a
set of services for a certain period of time. [t goes to the commumty to broaden the socio-
cultural perspectives of students and teachers through an exposurs to conditions of living and
areas of knowledge which may not otherwise be available to them within their experimental
range; and to bring about specific changes in the area through provision of service and
imparting of information, skills and change in attitudes of the target population in the
community.

Youths are beginning to learn the dialect of the people whom they meet during these efforts:
they are becoming aware of the divergent ways of living. food habits, dresz habits, etc. A
number of people lock up to them not merely for their and their children’s edueation, but also
for the various problems encountered in their daily life. The students participating in some of
the community services have acquired a kind of maturity which seems to come from a direct
exposure to poverty, malnutrition. ete. Such sccietal sensitivity is becoming a marked
characteristic of these students. In some cases_ they have not only understood the problems
and hardships being faced by the people they have also tried to sclve some of these through
legitimate channels of action.

A general impression that one gathers from the community is that most such attempts are
neither area-specific and nor sustained over a reasonably long stretch of time Institutions
have not “adopted specific areas for their integrated development aver a five to ten-years
period Whatever activities are initiated in a miven area have not always been followed up.
Meaningful linkage are often found missing in these efforts with the result that these are
neigher highly motivating for the community nor touching upon the pressing needs of the
wealker zections of society.
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“One major issue flagoed by the author about the inability of the inetitution in the text” iz in
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[Question ID = 10998][Question Description = 198_46_Adult_Edu_0CT22_Q98]

1. Planned adoption of area, services and duration

g3, Fadl S weEy % T FEes e

[Option ID = 13989]
2. Providing all possible services to the area insert

&7 1 Tt TS A weE w5
[Option ID = 13990]
3. Draw strengths from all possible sources

i H9E A F W o
[Option ID = 13991]
4. To limit the seope of work to academic need

[Option ID = 13992]

4) Instructions for @ 26-100.

When a university or a college goes to the commumity it takes with it a group of people and a
set of services for a certain peried of time. It goes to the community to broaden the socio-
cultural perspectives of students and teachers through an exposurs to conditions of living and
areas of knowledge which may not otherwise be available to them within their experimental
range; and to bring about specific changes in the area through provision of service and
imparting of information, skills and change in attitudes of the target population in the
community.

Youths are beginning to learn the dialect of the people whom they meet during thesze efforts:
they are becoming aware of the divergent ways of living. food habits, dress habits. etc. A
number of people lock up to them not merely for their and their children’s edueation, but alse
for the various problems encountsred in their daily life. The students participating in some of
the community services have acquired a kind of maturity which seems to come from a direct
exposure to poverty, malnutrition. ete. Such societal sensitivity is becoming a marked
characteristic of these students. In some cases_ they have not only understood the problems
and hardships being faced by the-people they have also tried to sclve some of these through
legitimate channels of action.

A peneral impression that one gathers from the community is that most such attempts are
neither area-specific and nor sustained over a reasonably long stretch of time Institutions
have not “adopted specific areas for their integrated development aver a five to ten-years
period Whatever activities are initiated in a given area have not always been followed up:
Meaningful linkage are often found missing in these efforts with the result that these are
neigher highly motivating for the community nor téuching upon the pressing needs of the
wealker zections of society.



et e st s uiee e 9u9 ae % gl & o e

w5 s et S TR O % S W 6 O% 99 0 O e ¥ e saieee % =
Tz i FEad F wE Hz F A I 2| 7w ki ot fes ¥ st -t ToE R e E
furpm sd T i s T AR s e R id s s S
sftat o e T B 4, 3 o waeE 4 gy swwen § HEy g w0 g o e aik wfigfet
wean # g5 1 fatie wge we % o agee & @ s 2

T wrE % 2 g B at § fiem £, 2 = el e o e 2 R 3 Fen, me-Te o,
v, e i frermed % o o wmew B @ 4| 5w S A e, awh ot e s o o
fou =& aftm, a7 A e § v oE o s wrene < fa ) 5o Tw f St s § um
= o feenefl %% 7w s & S ww w W f =i, 9, anfs = ey 59 4 gee 2w weE
At B 38 wow F wwitss A ¢ Gk & s a6 @ @ 2 5o o 4, 3 3 F9A @ A
F A A e sk s w o L v e sl s v S s o s i e wm e §
ware ot f )

e @ fied amen G wva a ¢ T uR sl v A 9 odw e # e R el o dmeew
w7 e #| FeEe 3 = wm ol T f Feet § e few A e e
‘o’ T R Tt v a H g Ree e Bereerdt % ae F wi & et wrderd =6 o 2w we |
Tl HoE f wgw sEuts o 2 s o wen 1 9 9 e $ sl i s @ owe
FHAC TR I AAETIF FEE F G

What is truie about the students participating in some of the community services as per the
text?

Wa % AT A St § 9 weare [t gy § Fetetay § @ 5 oad 27

[Question ID = 10999][Question Description = 199_46_Adult_Edu_0CT22_Q99]
1. Direct exposure of the students has led to some eonfusion

TR < were wgea | F wo I 28T B

[Option ID = 13993]
2. Direct exposure of the students has led to their maturation

fernfeferl % weqw a5 9 i gu

[Option ID = 13994]
3. Direct exposure has earned them some eredit

sEg T § 59 ¥ e e d)

[Option ID = 13995]
4. Direct exposure has prevented them for doing their regular seademic sctivities

WAy I F % 5 w7 e e = s d)

[Option ID = 13996]



5) Instructions for Q. 86-100.

When a university or a college goes to the community it takes with it a group of people and a
set of services for a certain period of time. [t goes to the community to broaden the socio-
cultural perspectives of students and teachers through an exposure to conditions of living and
areas of knowledge which may not otherwise be available to them within their experimental
range; and to bring about specific changes in the area through provision of service and
imparting of information. skills and change in attitudes of the target population i the
community.

Youths are beginning to learn the dialect of the people whom they meet during these efforts:
they are becoming aware of the divergent ways of living. food habits, dresz hahits. et A
number of people look up to them not merely for their and their children’s edueation, but alse
for the various problems eneountered in their daily life. The students participating in some of
the community services have acquired a kind of maturity which seems to come from a direct
exposure to poverty, malnutrition. ete. Such sccietal sensitivity is becoming a marked
characteristic of these students. In some cases. they have not only understood the problems
and hardships being faced by the-people they have also tried to sclve some of these through
legitimate channels of action.

A general impression that one gathers from the community is that most such attempts are
neither area-specific and nor sustained over a reasonably long stretch of time. Institutions
have not “adopted specific areas for their integrated development over a five to ten-years
period Whatever activities are initiated in a given area have not always been followed up:
Meaningful linkage are often found missing in these efforts with the result that these are
neigher highly motivating for the community nor touching upon the pressing needs of the
weaker sections of society.

Frafeafis e =1 weeEdE v o 3 F wv F e At

w9 5 fevafoanen s TeieeeE gd % € 9@ @ F oy 9 g U e ¥ e s & =
TE 3 FEad F wE 2 F A T 8| 7E ekl ot fes 3 woiEe vt oe w1 R e F
fumm s dsmiw s mdmdsBfrmssmammiassF i s
wfiar weT I9ere T w9 #, o 9w § e wewen 4 g e e g9 o v ok whinhe &
g & &3 1 fafire agee we % fou @gge & s w2

T wrE % 2 g T At § few 3 = Al o o ow @ R 3 e, meee o,
wgeE, st # frma & wod S 8 @ £ o S S o e §, oot e w of e o S
fou = aiftm, 3 s e o w23 Sl fafls seoned € fou ot 30 9w 6 Tmgfes s § wm
A T %o 5 wen & dieee S = W € = i, F9re, anfe w1 wes =9 4 gen 8 e
wdt B 38 wew I e weiea o i & ffiven a6 @ @ 2 e uwe 4, 3 3 F9A A\ oa
F A A s s s w e L v s sl s e s T e i sm e wm e §
wars ot fe 4

e & fier =en awer e ww ¢ 0 sl v A @ dw e § B d o T e
s il i i s i o e s s
‘g’ 58 R fat wem g9 d 1 e e Geawerdt % e d i A el e =E ol 4y = wwei
o o f wg st o 2 g vfom me g g e S aefm rm A s a d weE %
E DI T S e e e o e e

This effect has afforded the students with exposure to conditions of living and areas of
knowledge

50 WA S o oaie el w1 HieE 59 a5 TE S U e S A e e

[Question ID = 11000][Question Description = 200_46_Adult_Edu_0CT22_Q100]
1. Which is available within the campus

e % Wi ST 2

[Option ID = 13997]
2. Which is linked to the curricular

=t =l ¥ 5w

[Option ID = 13998]
3. Which is regarded as of no use

=1 3% Tt s s ad 2

[Option ID = 13999]



4. Which may not otherwise available to them in their experiential range
= T S IS 1§ e T R

[Option ID = 14000]

Topic:- 11_GP_SH1_S1_A

D The following table presents the percentage (%) distribution of production of various models
of Laptop (A-F) manufactured by a company over two consecutive years in 2019 and 2020.
The total number of Laptops produced in 2019 was 35 lakh and in 2020, it was 44 lakhs.
Based on the data in the table. answer the questions:

Year-wise Percentage Distribution of Production of Laptops

Year Laptop Model (in %)

A|B|ec|D|E]|F
2019 | 30% | 15% | 20% | 10% | 16% | 10%
2020 | 40% | 20% | 15% | 10% | 10% | 5%

fp=ferfan aifeem & 99 2019 797 2020 ¥ =1 @AW 991 # {HEt FA1 gAT [ wven # fafe aiee
(A-F) % 392 & faam =0 ufqem fea mr 21 ad 2019 #2099 2020 § B <wefdi 6 %0 o=
FUS: 35 @ YT 44 wrg 2| @ovi 1 fau o iESl & 3UE 97 UUH % 39T At

i H92T Hize (% W)

A|B|c|D|E]|F
2019 | 30% | 15% | 20% | 10% | 15% | 10%
2020 | 40% | 20% | 15% | 10% | 10% | 5%

Total number of Laptops of models A, B and E produced in 2019 was :
(1) 24.50 lakh (2) 22.75lakh

(3) 21.00 lakh (4) 19.25lakh

44 2019 ® ffda A, B au E uige arel ogel 6 ol Jen o

(1 24.50 g (2) 2277561

=

(3) 21.00 «frd (4) 18.256m4E

[Question ID = 11596][Question Description = 101_00_General_47_0CT22_Q01]
1. 1 [Option ID = 16381]
2. 2 [Option ID = 16382]
3. 3 [Option ID = 16383]
4. 4 [Option ID = 16384]



2 ; S i i ]
) The following table presents the percentage (%) distribution of production of various models

of Laptop (A-F) manufactured by a company over two consecutive years in 2019 and 2020,
The total number of Laptops produced in 2019 was 35 lakh and in 2020, it was 44 lakhs.
Based on the data in the table. answer the questions:

Year-wise Percentage Distribution of Production of Laptops

Year Laptop Model (in %)

A|B|lc|D|E|F
2019 | 30% | 15% | 20% | 10% | 15% | 10%
2020 | 40% | 20% | 15% | 10% | 10% | 5%

fpferfige mfers © =4 2019 A2 2020 @ &1 &R @91 ° fet s gr e duem 5 fafim wiea
(A-F) % 3o % famon a1 wfder o 21 2019 war ad 2020 H Fife Sweit 41 %o e
S 35 0 A41 44 emd 2| Jrll § fou e sieEl % 30un w3 A

92T o ITEA TeAT =R CERGIE ‘Iﬁ‘l’gll—'f

aH 9219 Hige (% H)

A | B C | D | E F
2019 30% | 15% | 20% | 10% | 15% | 10%
2020 | 40% | 20% | 15% | 10% | 10% | 5%

What is the ratio of number of Model-F Laptops produced in 2019 to the number of Model-C
Laptops produced in 20207

(1) 33 : 59 (2) 35:66
(3) 37:61 (4) 31:65

a4 2019 4 fAfda giza-F ageim 1 sen aw ad 2020 4 Hids wiga-C £ wen & @ s5quE 27

(1) 33: 59 (2)y B35:66
(3) 37:61 (4) 31:65

[Question ID = 11597][Question Description = 102_00_General_47_0CT22_Q02]
1. 1 [Option ID = 16385]
2. 2 [Option ID = 16386]
3. 3 [Option ID = 16387]
4. 4 [Option ID = 16388]

3) The following table presents the percentage (%) distribution of production of various models

of Laptop (A-F) manufactured by a company over two consecutive years in 2019 and 2020.
The total number of Laptops produced in 2019 was 35 lakh and in 2020, it was 44 lakhs.
Based on the data in the table. answer the questions:

Year-wise Percentage Distribution of Production of Laptops

Year Laptop Model (in %)

A B c D E F
2019 | 30% | 15% | 20% | 10% | 15% | 10%
2020 | 40% | 20% | 15% | 10% | 10% | 5%




fpeferfam anfesr =4 2019 7en 2020 ¥ 21 &aw =91 § fdt st g fafifa dvem = fafim wiza
(A-F) & 3eamed & famm &1 ufaem femr mn 21 ad 2019 79 a9 2020 § fafiq s 6 o 9=
FUI: 35 ¢ 99T 44 @ng 2| Gneh § fEu e TSl o YT 9 9 o 39 At

e & 3dTed famm =1 9 gn afdsE

aH 92T Hige (%)

A | B C | D|E F
2019 30% | 15% | 20% | 10% | 15% | 10%
2020 | 40% | 20% | 15% | 10% | 10% | 5%

What was the difference in the number of Model-B Laptops produced in 2019 and 20207

(1) 3.65 1akh 2y 2.70lakh
(3) 2.25lakh (4) 1.751akh

g4 2019 A = 2020 § fdA 9fza B A9l & HE0 % #4930 2y
(1) 3.55 M= (2) 2.70+r4
(3 2259 4 L175nd

[Question ID = 11598][Question Description = 103_00_General_47_0CT22_Q03]
1. 1 [Option ID = 16389]
2. 2 [Option ID = 16390]
3. 3 [Option ID = 16391]
4. 4 [Option ID = 16392]

4 s = ? i
) The following table presents the percentage (%) distribution of production of various models

of Laptop (A-F) manufactured by a company over two consecutive years in 2019 and 2020.
The total number of Laptops produced in 2019 was 35 lakh and i 2020, it was 44 lakhs.

Based on the data in the table. answer the questions:

Year-wise Percentage Distribution of Production of Laptops

Year Laptop Model (in %)

A|B|c|D|E|F
2019 | 30% | 15% | 20% | 10% | 156% | 10%
2020 | 40% | 20% | 15% | 10% | 10% | 5%

freaferfaa arfererr 3 99 2019 791 2020 o 1 SEE 997 ° HET 9T g [AhiE dven & e aieen
(A-F) = 309med % faer = ufqse fean o 2) 99 2019 27 &9 2020 | Fidq siveid) 1 & gen
HHI: 35 oing 7491 44 = 2| v § T5u 0 sTEEl o T 9 9 % 39 S|

UL % IFITEA Taam = 9% 9 giaeE

an ATETT Hige (% H)

A | B c | b E F
2019 | 30% | 15% | 20% | 10% | 15% | 10%
2020 | 40% | 20% | 15% | 10% | 10% | 5%




If the percentage production of Model-A Laptops in 2020 was same as that in 2019, then the
number of Model-A Laptops produced in 2020 would have been :

(1) 14.0 Lakh (2) 13.2 Lakh
(3) 11.7 Lakh (4) 10.5Lakh

a9 2020 H Wigd-A S92 % I 1 wfawa 9@ Far 51 99 2019 1 71, @ 94 2020 # Fhia aiga-

(1) 14.0 =g (Z) 13.2+vm4
(3) 11.7 =rg 4y 10.5&M=F

[Question ID = 11599][Question Description = 104_00_General_47_0CT22_Q04]
1. 1 [Option ID = 16393]
2. 2 [Option ID = 16394]
3. 3 [Option ID = 16395]
4. 4 [Option ID = 16396]

5 : S i i ]
) The following table presents the percentage (%) distribution of production of various models

of Laptop (A-F) manufactured by a company over two consecutive years in 2019 and 2020.
The total number of Laptops produced in 2019 was 35 lakh and in 2020, it was 44 lakhs.

Based on the data in the table. answer the questions:

Year-wise Percentage Distribution of Production of Laptops

Year Laptop Model (in %)

A|B|lc|D|E|F
2019 | 30% | 15% | 20% | 10% | 15% | 10%
2020 | 40% | 20% | 15% | 10% | 10% | 5%

frerferfiga aifeent § a4 2019 7201 2020 § =1 &F0aR a9] 8 et 9 g Tl el & i afza
(A-F) % 37Imed & faemm = wiaem fean man 21 ad 2019 72 ad 2020 # Fiig swefd 6 &6 F=n
FHY: 35 ©Rg 9971 44 E 2| grvfl ° feu T siwEl % HIYW W v % I e

92T & 3edTEd faamm =1 99 gn ufqsE

aH 92T Hige (% H)

A | B C | D|E F
2019 30% | 15% | 20% | 10% | 15% | 10%
2020 | 40% | 20% | 15% | 10% | 10% | 5%

If 90% of the Model-D Laptops produced in each year were sold by the company. then how
many Model-D Laptops remained unsold?

(1) 76500 (2) 93500

(3) 79000 {4) 87000

afe o A wfd = Ffa 90% Hiew-D s9eml w1 == fem w1, 71 fohee wige-D e @ fas 47
(1) 76500 (2) 93500
(3) 79000 (4) 87000

[Question ID = 11600][Question Description = 105_00_General_47_0CT22_Q05]
1. 1 [Option ID = 16397]
2. 2 [Option ID = 16398]
3. 3 [Option ID = 16399]
4. 4 [Option ID = 16400]



Topic:- 11_GP_SH1_S1_B

1) A drawing that charts the relationships among 1deas is known as

(1) Divergent thinking (2) Concept map
(3 Episodic memory (4) Embodied cognition
AF SREA o We & A HE S w90 A96 A A HECATT & |
(1) srErd fammr (2T ) (2) Hueam uElEE (a2 i)
(3)  wEmeEER Wi (vfEites ) (4) Hferfem s (geisz HHeA)

[Question ID = 11601][Question Description = 106_00_General_47_0CT22_Q06]
1. 1 [Option ID = 16401]
2. 2 [Option ID = 16402]
3. 3 [Option ID = 16403]
4. 4 [Option ID = 16404]

2 . ) .
) Cyelical phases/subproceszses of self regulated learning model by Zimmerman operate as

(A) Task Analysis

(B) Self-motivation beliefs
() Self-control

(D)  Self-observation

(E)  Self- Judgement

(F)  Self Reaction

Choose the correct answer from the options given below :

(1) (A (B). (C), (D), (E). (F)
@ A (©C), (E) B) D). (F)
(8 (B (E) (F). (A). (C). (D)
4 (B). (C). (D). (A). (E). (F)



ooty g wiemifea sren fafaius sfem & @ =)/ afwm F ¥ 4 e Fvd/
el 2

(&) e Tazemm
(B) E-wfam fHawEm
(C) e Fgam

(D) s

(E) rew favi

(F) =g ufdfen
Fi=1 few o fraedi § 8 wd 3 @ e Hife .

(1) (A B). (C). (D), (E). (F)
(2) (A). (C). (E). (B). (. (F)
(3) (B (E). (F). (A (C). (D)
@ (B (C). (D). (A), (E). (F)

[Question ID = 11602][Question Description = 107_00_General_47_0CT22_Q07]
1. 1 [Option ID = 16405]
2. 2 [Option ID = 16406]
3. 3 [Option ID = 16407]
4. 4 [Option ID = 16408]

3)  @Given below are two statements :

Statement (I) :  Extrinsically motivated students are driven by rewards and praize.

Statement (II) : Intrinsically motivated students engage with a subject for the personal

satisfaction it brings,

In the light of the above statements, choose the correet answer from the options given

below :

(1) Both Statement (I) and Statement (IT) are true
(2) Both Statement (I) and Statement (IT) are false
(3) Statement (I) 1= true but Statement (IT) 12 false

(4) Statement (I) 1s false but Statement (II) 1s true



FA (D) afafAfeg wfiia faenedi wesm g wism & Farfeg @@ 3
%o (I0) : Faua it faenedf vy foefi fava o gom 12d @ o1 34 Jufoes Hafe
vy &l 2

I FH & qeies 8, i fau mu faeedi § 8 wd 3w & e i

(1)

(2)

(3)

(4)

FyA (I) 31 (1D 21 779 &
HY (I) 37 (1D 21 3197 2
FoA (D) B 2, wifa %o (I0) 307 2

& (T) 915 2, o4 %494 (ID) 949 2

[Question ID = 11603][Question Description = 108_00_General_47_0CT22_Q08]
1. 1 [Option ID = 16409]
2. 2 [Option ID = 16410]
3. 3 [Option ID = 16411]
4. 4 [Option ID = 16412]

4)

Identify the tools for sharved viewing of vizual and other interactive content within real time

environments,

(A) Virtual whiteboard
(By Slide showing

(C) Polling

(D)  Quizzing

(E) Avatars

Chooge the most appropriate answer from the options given below :

(1)
(2)
(3)
(4)

(A). (B). (C). (D) only
(A), (B). (D). (E) only
(A). (C), (D). (E) only
(B). (C). (D). (E) only



areerfus Tites 4 9va aw 3= A=A TvgeE & HiEn whaelEa 2q el 6 geEE fifae

(A)

AT T 9eE (A ETEe dre)

(B) TE’TT:E fearn

(©
(D)

(E)

e fgu s fse 8 | waH 3w I R =99 Rifa

(1
(2)
(3)

(4

gaaF (9ifer)

gy

AN

Fad (A), (B), (C). (D)

Fae (A). (B). (D), (E)

&4 (A). (C). (D). (E)

F4e (B). (C), (D), (E)

[Question ID = 11604][Question Description = 109_00_General_47_0CT22_Q09]
1. 1 [Option ID = 16413]
2. 2 [Option ID = 16414]
3. 3 [Option ID = 16415]
4. 4 [Option ID = 16416]

5) Match List T with List IT

(&)
(B)
(&)
(D)

ListI

Bizz's Presage-Process-Performance
model of learning

Learning Qutcome

Learning Focused Activities
Student Characteristics

Teaching Context

(I
(ID)
(I1T)
awv

List I

Factors

Prior KEnowledge

Satisfaction. Affective involvement
Ongolng approach to learning
Assessment

Choose the correct answer from the options given below:

1)
(2)
(3)
(4)

(A)-(TV). (B)(II). (C)-(III). (D)-(I)
(A)-(D). (B)-(IV). (C)-(I1). (D)-(IIT)
(A)-(ID), (B)-(ILL). (C)-(D). (D)-(IV)
(A)-(IID), (B)-(D), (C)«IV), (D)-(II)



Hi-1 & =12 g1 =1 fuerm difam

(A)
(B)
(€
(D)

I AT

fan &l wfem wfen & qEias -gfwmn- FE

Foare wfge

ifera e M e I

siftrmd g e (I) ddfe, g sauffadda
ferenedi e (IIT) stferms a1 wrferd a9mmm
Heam Hed (IV) g=ara-

4= feu mo faaedi 0 B 98 I & 99 Eifau

(8Y)
(2)
(3
4)

(A)-(IV), (B)-(ID), (C)-(11I), (D)-(I)
(A)-(I). (B)-(IV). (C)-(ID). (D)-(1IT)
(A)-(II). (B)-(IID). (C)-(D. (D)-(AV)
(A)-(IID), (B)-(D). (C)AIV). (D)-(ID)

[Question ID = 11605][Question Description = 110_00_General_47_0CT22_Q10]
1. 1 [Option ID = 16417]
2. 2 [Option ID = 16418]
3. 3 [Option ID = 16419]

4. 410

6)

ption ID = 16420]
Match List I with List IT
ListI
(Research Methodology)
(A) Source criticism (D
(B) Positivism (1)
(C) Interpretiviam (I1I)
(D) Post- Positivism (IV)

ListII

(Approaches/Beliefs)

The observer is the part of what is
being ohserved
Reality
certainty

cannot be known with

The process of evaluating the gualities
of origin of information

Human interests are irrelevant

Choose the correct answer from the options given below :

(1) (A)-(D). (B)-(IT). (C)-(I1T). (D)-IV)
(2) (A)-AD. (B)-(D). (C)-(IV), (D)-(IID)
(3) (A)-(III). (B)-(IV), (C)-(D), (D)-(IT)
(4) (A)-(IV). (B)-(IID). (C)-(II), (D)-(D)



HA-T & w1 HH1-11 =1 faerm ifam

HHI-I 111
(s =7 fafe) (3UTTH / 50T
(A) Hid A=A (@ Uk fohd 31 T8 Q&1 o1 Uk W AT A
(B) Urd&TETE dn) ardfaEs w1 ArETmEs 5 Jmow.
Hedl 7 |
(©) Fef=ame (D) §= 1 % Femy ol Torare a1 eaiee wiaan
(D) TTHE-UAALETE (IV) wrdra fea smwfrs 2|

=t feu mmu famedi 4 8 9l I =4 Fifa

(1) (A)-@D. (B)-(I). (C)-(II), (D)-IV)
2) (A)-(ID, (B)-(I). (C)-(IV), (D)-(11T)
(3) (A)-(II). (B)-(IV). (C)-(D). (D)-(ID)
(4)  (A)-OV). (B)III). (C)-(I), (D)D)

[Question ID = 11606][Question Description = 111_00_General_47_0CT22_Q11]
1. 1 [Option ID = 16421]
2. 2 [Option ID = 16422]
3. 3 [Option ID = 16423]
4. 4 [Option ID = 16424]

7)
Which of the following represent the Quantitative Research methodology?

(A)  One to One Interview
(B) Survey research

(C)  Focus groups

(D) Correlation research

(E) Descriptive research

Choose the correct answer from the options given helow :

(1) (A). (D). (E) Only
(2)  (B), D), (E) Only
(3)  (B). (C). (D) Only
4)  (C). (D). (E) Only



Trferfiga d 4 s afmwmars siy ol 6 vefsia s 20
(A) YRIH HIEHN

(B) Hd&ml Y

(C) 5-HyE

(D) H& HeY My

(B)  =vHTeHE 1%

44 fau mu fasedi 10 & 9dl 39 & =299 Fifau .

(1 #=d (A). D). (E)

(2) %= (B), (D). (E)

(3) %44 (B). (C), (D)

(4 %44 (C). (D). (E)
[Question ID = 11607][Question Description = 112_00_General_47_0CT22_Q12]
1. 1 [Option ID = 16425]
2. 2 [Option ID = 16426]

3. 3 [Option ID = 16427]
4. 4 [Option ID = 16428]

8) Relics such as fingerprints are considered credible by which of the following Research
methodology?
(1) Experimental (2) Quantitative
(3) Historical (4) Descriptive
fefeafiga & fam sy frenfafy O Sifern % fronm 38 s o favesd a3 27
(1)  wErTEE (2) HEEE
(3)  UfETHS (4) TS

[Question ID = 11608][Question Description = 113_00_General_47_0CT22_Q13]
1. 1 [Option ID = 16429]
2. 2 [Option ID = 16430]
3. 3 [Option ID = 16431]
4. 4 [Option ID = 16432]

9) Which of the following referencing style is used for research in the field of Business. History
and Arts?
(1) APA style (2) MLA stvle
(3) Chicago style (4) IEEE style

freferfiad o & =9 = T2 Sl () =Eam, sfem s & & a9 § 99 % 6w A 2 v

(1)  APA drft (2)  MLA st
(3)  ferwr e (4) IEEE 9=

[Question ID = 11609][Question Description = 114_00_General_47_0CT22_Q14]
1. 1 [Option ID = 16433]
2. 2 [Option ID = 16434]
3. 3 [Option ID = 16435]
4. 4 [Option ID = 16436]



10) Given below are two statements :
Statement (I) :  While developing a ‘consent form’ an explanation of the purpose of the
study. the reason for the selection of the participants should be exphicit.

Statement (II) : However. there 1s no need to give a description of any potential risks to the
participants.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement (I) and Statement (II) are true

(2] Both Statement (I) and Statement (II) are false

(3 Statement (I) is true but Statement (II) is false

(4) Statement (I) 1= falzse but Statement (II) is true

ﬁ%iﬁﬁmhﬂ,ﬁﬁ,%;

2 (D) : wEAla T % Fum F omym sern & 3w & us s fe fEE oan
afeefirall @ = fan mn B, gew @9 =i
w94 (1) : i waarhE < fesl Awfam ey & auia @ sravasal 396 2

IUITTh oA & Aok 4, 9 Tev o fawed 8 3 w8 s31 @ 999 $ifaw .

(1) &A1) 31 (1D <41 57 2

(2) @A (@) 3 (D g 3 7

(3) wHA (D) a2 8, A &2 (1) d53 2

(4) e (D) 35 2, Al S99 (1) 97 2
[Question ID = 11610][Question Description = 115_00_General_47_0CT22_Q15]
1. 1 [Option ID = 16437]
2. 2 [Option ID = 16438]

3. 3 [Option ID = 16439]
4. 4 [Option ID = 16440]

11)  Exeeptional classroom communication will result in

(1) Institutionalisation of teaching (2) Noticeable student achievement
(3) Change 1n focus areas of students (4) Manufacturing of consent

(1) 7597 1 TEaT (2) SEAE famd SRy
(3)  TaivE = %z &= 9 gl (4) =FEE w7 FEor

[Question ID = 11611][Question Description = 116_00_General_47_0CT22_Q16]
1. 1 [Option ID = 16441]
2. 2 [Option ID = 16442]
3. 3 [Option ID = 16443]
4. 4 [Option ID = 16444]



12) The Internet-based communication for learning is

(A) Isclated
(B) Inter-dependent
(C)  Interactive
(D)  Automatic
(E)y Wideranging
Choose the correct answer from the options given below :
()  (A), (B), (C) Only
(2)  (B), (C), (D) Only
(3) (C), (D), (E) Only
(4) (A), (D). (E) Only

(A) T

(B) #=r-Ter

(C) FAA=TIFacaT

(D) =i

(E) ==

= T30 o famem § 5 WA S W 99 A

() === (A). (B), (O)
(2) === (B). (C). (D)
(3) === (C), (D), (E)
(4)  Fa7(A), (D). (E)

[Question ID = 11612][Question Description = 117_00_General_47_0CT22_Q17]
1. 1 [Option ID = 16445]
2. 2 [Option ID = 16446]
3. 3 [Option ID = 16447]
4. 4 [Option ID = 16448]



13) Given below are two statements :

Statement (I) : Through attention frame. it is possible to assess the rate at which

communicated content iz brought to the notice of the people.

Statement (IT) : In modern societies, the attention frames are uniform, unrefined and non-

interactive when all the frames available 1 the world are taken into

account.

In the lLight of the above statements. choose the correct answer from the options given

below :

(1) Both Statement (1) and Statement (II) are true
(2) Both Statement (I) and Statement (1) are false
{(3) Statement (I) 1s true but Statement (IT) is falze
(4) Statement (I) 1s false but Statement (II) 1s frue

= 2w o E

F95 () : oI 2 (929 %W) F AN H 39 2 F [eAd B 799 7 fem w A
T F S & S = W e e
A (1D : SRR JATE ° FiE AR 4 Fug @i eI e (30 W) W ose T s mL @ 3

Tl 2= T THE, AUEEEA G0 - =

T FIE AT 0, A9 T2 0 fasmew] § § wE 3 = i

(L

(2)

(3)

(4)

Faq (1) 310 (1) 51 e 2
For (1) 97 (ID) 371 51577 =
#a4 () 903 2, =i %94 (1) 359 7

Fu (1) 9977 2, 9154 %94 (ID T 2

[Question ID = 11613][Question Description = 118_00_General_47_0CT22_Q18]
1. 1 [Option ID = 16449]
2. 2 [Option ID = 16450]
3. 3 [Option ID = 16451]
4. 4 [Option ID = 16452]



14)  Given below are two statements : One is labeled as Assertion (A) and the other 1s labeled as
Reason (R).

Assertion (A): The understanding of communication as a ritual is not a radical view.
Reason (R) : The hegemonic view of transmission of communication is no longer valid.

In the hight of the above statements. choose the correct answer from the options given

below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (4)
(3) (A) is true but (R) 1= false
(4) (A) is false but (R) is true
I/ 71 w9 B0 e E : uE 9iFad (Assertion A) ?ﬁﬁqﬁﬁf@ﬁ‘a‘ﬂ‘r‘fﬂm =9% F77 (Reason R) %

F9H :

AT (A) : st fafy & &9 O 550w #1 19 g faEn a8 2)

F (R) : Huwwl w SEA ] e gfewm we a5 R

ST HUA] = AETE A, A9 20 T @Eed § 5 HE 300 6 999 i

(L) (A=W (R) 3 5= 7 3 (R), (A) =1 581 =ven 7
@) (A) =R (R) A T 2, =T @), (A) F1TF = TE 2
(8)  (Ay@= #, = (R) 354 7

(4) (A) 3797 &, =% (R) 973 2

[Question ID = 11614][Question Description = 119_00_General_47_0CT22_Q19]
1. 1 [Option ID = 16453]
2. 2 [Option ID = 16454]
3. 3 [Option ID = 16455]
4. 4 [Option ID = 16456]



15 g . g e
) Identify the correct sequence of barrers to effective commumeation.

(A)  Physieal
(B) Perceptual
(C) Emotional
(D)  Cultural

(E) Semantic

Choose the correct answer from the options given below :
(1) (A), (B). (C), (D). (E)
(2) (B), (C), (D), (E), (A)
(3) (D). (C). (A). (E). (B)
(4 (E). (D). (B). (A). (C)
T HAA F SR HOHE AR § Sqaead i
(A) =R
(B) wr=aiEE
(C) =T
D) HEFTF
(E) w14

16 B A 1 e (B = o s e 0 e o e o e

() (A, B (). (D). (E)
(2) (B, (). D), (E), A
(3) (D) (C). (A). (E). (B)
4)  (E). D). B A. (O

[Question ID = 11615][Question Description = 120_00_General_47_0CT22_Q20]
1. 1 [Option ID = 16457]
2. 2 [Option ID = 16458]
3. 3 [Option ID = 16459]
4. 4 [Option ID = 16460]

16) 400 students took a mock test: 60% of the boys and 80% of the girls eleared the cut off in the
test. If the total percentage of students clearing the cut off in the test is 65% . then how many
girls appeared in the test?

(1) 100 2 120

(3) 150 (4) 300



400 TaeniziEi 4 v Ben whian €] 60% 21 a9 80% BTN 38 Tia & fasdes 37 (F2-31%) T0 &
gt 7o) Afe fa=ges % 9n w3\ v 4 T #R 9 e = %e ufam 65% 7, @
ufier 4 ferae @ransti 4 up foen o @

(1) 100 2 120

(3) 150 (4) 300

[Question ID = 11616][Question Description = 121_00_General_47_0CT22_Q21]
1. 1 [Option ID = 16461]
2. 2 [Option ID = 16462]
3. 3 [Option ID = 16463]
4. 4 [Option ID = 16464]

17)
per annum for two vears and the sum becomes 7 196.

(1) 7 140 (2) ©144

(3) 7150 (4) t154

T FoTeA T TFGIE T 162 % = o w F 7 FT 9% o A, 91 {596 ¢ 196 7 w0 #, 19 gened

i
(1) 7140 (2) 1144
(3 7150 4y 71b4

[Question ID = 11617][Question Description = 122_00_General_47_0CT22_Q22]
1. 1 [Option ID = 16465]
2. 2 [Option ID = 16466]
3. 3 [Option ID = 16467]
4. 4 [Option ID = 16468]

18)  Given below are two statements based on the following :

Find the principal if the compound interest is charged on the principal at the rate of IE%_ %

A Car travels 25 km/hour faster than a bus for a journey of 500 Km, and the bus takes

10 hours more than the car.

Statement (I) :  Speed of the car is 45 km/hour.
Statement (IT) : Speed of the bus iz 20 km/hour.

In the light of the above statements. choose the correct answer from the options given

below :

(1) Both Statement (I) and Statement (II} are true
(2) Both Statement (I} and Statement (II) are falze
(3) Statement (I} is true but Statement (IT) is false
{4) Statement (I) is false but Statement (II) 1s true



freafefias & sman W 5 2 e 2o E )

wh 0 500 T i Fi 7m0 F w25 B /az aiew we @ 9edl 7 a9 s wn F war 10 92

Fo (I) TR il =T 45 T R
FgA (1) : =@ i = 20 T g 2

E b o7 e = o o = O B ot L o | = B>t e L - 1 L

(1) = (D) 31 00 =4 5 3
(2) = (I) 57 (1) 3 @9 7
(3) = () 99 7, =i F2A (1) 594 7

4y = (1) w9 7, = o () & 7

[Question ID = 11618][Question Description = 123_00_General_47_0CT22_Q23]
1. 1 [Option ID = 16469]
2. 2 [Option ID = 16470]
3. 3 [Option ID = 16471]
4. 4 [Option ID = 16472]

19) A sum of 7 53 1s divided among A. B and C in such a way that A gets £ 7 more than what B

zets and B gets T 8 more than what C gets. The ratio of their shares 1s :
(1) 27 :20:12 (2)y 27:17:09
(3) 26318 :10 (4y 23:19:11

T €53 F A B.CU =0 TN [A9ad A T2 R AS BH T T Hiuw Ay B C 1 T 8 Higw
THEAT 7| A7 Sh] THe=aTel T S 2

(1) 27:20:12 2y 27:17:09
(3) 25:18:10 4 23:19:11

[Question ID = 11619][Question Description = 124_00_General_47_0CT22_Q24]
1. 1 [Option ID = 16473]
2. 2 [Option ID = 16474]
3. 3 [Option ID = 16475]
4. 4 [Option ID = 16476]



20)

Match List T with List IT

ListI

(Number Series)
(A) 2.9 28 65, 126. P. ...
(B) 2,10,30,68.130,P. ...
(C) 3.4.11,30,67,128, P, ...
(D) b, 12,31, 68.129. P, ....

List IT
(Value of P in the Series)
@O 220
(I 222
(I 217
(IV) 219

Choose the correct answer from the options given below :

(2)
(3)
(4)

(A)
(B)
(€
D)

i Tau T el § H AE 3 0 =94 AT

(1)
(2)
(3)
(4)

(1) (A)-(1D), (B)-(D), (C)-(IV), (D)-(IID)
(A)-(AV), (B)-(ID), (C)-(11D), (D)-(D)
(A)-ID). (B)-(ID). (O)«IV), (D)-(D
(A)-(D). (B)-(II). (C)-(IV). (D)-(IIT)

I % =g T = e Fifm
ESIP!

2,9, 28,65, 126. P, ....

52

. 10, 30. 68, 130, P. ...
3, 4. 11. 30, 67, 128, P, ...
b, 12,81, 68,199, P, ....

(A)-(II). (B)-(T). (C)-(IV), (D)-(I1I)
(A)-(IV), (B)-(ID). (C)(I1T). (D)-(T)
(A)-(III). (B)-(ID). (C)-(IV). (D)-(D)
(A)-(D. (B)-(II). (C)-(IV). (D)-(IIT)

=1L
7q @ § P OH
(D 220
(In 222
I 217
(IV) 219

[Question ID = 11620][Question Description = 125_00_General_47_0CT22_Q25]
1. 1 [Option ID = 16477]
2. 2 [Option ID = 16478]
3. 3 [Option ID = 16479]
4. 4 [Option ID = 16480]

21)

(
(

T
(1
(3)

1 Some Roges are fragrant

3) No. fragrant things are Roses

TGA 71 7 5 T A ST F
T T T 7 A

The standard form categorical proposition of ‘Roses are fragrant " is

(2) Some fragrant things are not Roses
(4) All Roses are fragrant things

(2) T3 Trtas A= TEE T5 A

4y =l e a7 2

[Question ID = 11621][Question Description = 126_00_General_47_0CT22_Q26]



1 [Option ID = 16481]
2 [Option ID = 16482]
3 [Option ID = 16483]
4 [Option ID = 16484]

A W N -

22) Match List T with List IT

TastI List IT
(In a square of opposition) (Resultant)
{A) A being given false (I "E’1iz false
(B) ‘E'being given false {II) °E’ 1= true
{C) T being given false (II) T is undetermined
(D) ‘O being given false (IV) T istrue

Choose the correct answer from the options given below :

(1) (A)-(D). (B)-(IIT). (C)-(II), (D)-(IV)
(2) (A)-(TID). (B)-(IV). (C)-IT). (D)-(T)
(3) (A)-(ID), (B)-(I), (C)-(I1D), (D)-(IV)
(4) (A)-(IV), (B)-(ID), (C)-(IID). (D)-(I)

wi-1 % =y geEi-11 = e Firsw

-1 a=fi.I1
(A) =03 A’ Ted & F9 WA R M “E e 2
(B) ‘E ¥ 7ed & =9 5 99 T 2 1D “E = 2
(C) T =1 79d & =9 § g 7] 7 ) T =fEE 7
(D)} ‘O % 7T9a % =9 ° 5= 7T 7 V) T = 2|
= Tou 0 fEeeat § 3 HE 390 H =9 R

(1) (A)-(D). (B)-(1IT). (C)-(II). (D)-(IV)

(2) (A)-(II0), (B)-(IV), (C)-(ID). (D)-(D

3)  (A)-aD). B)-(D. (C)-(I). (D)-av)

4 (A)-V). (B)-(D). (C)-(IID), (D)-(D)
[Question ID = 11622][Question Description = 127_00_General_47_0CT22_Q27]
1. 1 [Option ID = 16485]
2. 2 [Option ID = 16486]

3. 3 [Option ID = 16487]
4. 4 [Option ID = 16488]



23) Which one of the following formal fallacies is committed in the given argument?
All athletes are sportspersons.
No actor is an athlete.
Therefore no actors are sportspersons.
(1) Fallacy of Illieit process of Major Term
(2) Fallacy of Ilicit process of Minor Term
(3) Fallacy of Exclusive Premises

(4 Existential Fallacy

frerfafian b 4 wv-m s o 2 27
aifi veelte faenrdt 2
#1é wfiEm verefrz 87 2

WA &TE S faenEl 74 2)

(1)  wgid e 1 Ay when @ ad g
@ i ge i ey ufEE & o e
(3)  =AEHE ST T 2

4y  wiEaeER dF 2m

[Question ID = 11623][Question Description = 128_00_General_47_0CT22_Q28]
1. 1 [Option ID = 16489]
2. 2 [Option ID = 16490]
3. 3 [Option ID = 16491]
4. 4 [Option ID = 16492]



24)  Which of the following pramanas are accepted as valid by the Naiyvavikas?

(A) Perception

{B) Inference

(C)  Presumption

(D}  Verbal Testimony

(E) Comparison

Choose the correct answer from the options given below :

(1) (A), (B). (C) and (D) Only
(2) (B). (C), (D) and (E) Only
(3) (A). (B). (D) and (E) Only
4) (A), (C). (D) and (E) Only

FATRT 7 T=AAEa § ° TR T &) 3y e 2
(A) w34

(B) sAH

(C) 9T

(D) wfes T

(E) g

S o m fae 3 F wE T W T A

(1) & (A). (B). (C) 97 (D)
(2) === (B), (O). (D) w7 (E)
(3) a4 (A). (B), (D) #i (E)
4 =4 (A). (C), (D) 5 (E)

[Question ID = 11624][Question Description = 129_00_General_47_0CT22_Q29]
1. 1 [Option ID = 16493]
2. 2 [Option ID = 16494]
3. 3 [Option ID = 16495]
4. 4 [Option ID = 16496]



25)

Given below are two statements :

Statement (I) :  In Anvayva-Vyatirekl: middle term is both positively and negatively related

to the major term.

Statement (IT) : The knowledge of vyapti In Anvava-vyatireki is arrived at through the

joint method of agreement in presence and in absence.

In the light of the above statements. choose the correect answer from the options given

below :

(1) Both Statement (I) and Statement (II) are true
(2) Both Statement (I) and Statement (II) are false
(3) Statement (I) 1s true but Statement (II) 1s false

(4) Statement (I) 1s false but Statement (II} 1s true

w5 (D) ; F= - | 7 92 A1 9% ° YA 71 FOEE 261 59 0 HAg A

w2 (1) e R 10 e O 1= B 1 1 B 1 o s 2 = s ([ 2 et T R =
AT 2

IO WU % s O, A 2 et § O nd 3w w9 i

(1) F9= (@an (AD = 79 2

2 Fo (1) &7 (ID =91 95 7

3) = (I) o9 7, =i w2 (1D 56T 2

(4  F (I) 579 7, =0 F9 () 5 7

[Question ID = 11625][Question Description = 130_00_General_47_0CT22_Q30]
1. 1 [Option ID = 16497]
2. 2 [Option ID = 16498]
3. 3 [Option ID = 16499]
4. 4 [Option ID = 16500]

26)

Which of the following 1z the act of obtaining a password or other confidential information
from a person within an organization by using unauthorized means such as felgning an
emergency situation?

(1) Social engineering (2) Trojan horse

(3) Password crack (4) Stepping-stone attack



T AR U S AAaET ®eA I A 5E T T F e PR S e
€ B R e e T A e Mo o ) e e B Lo e e = 2 2 R 1 o

(1) =i ATHERER (e SHiET) (2) A
(3)  wwEE FF (4) = =E 5

[Question ID = 11626][Question Description = 131_00_General_47_0CT22_Q31]
1. 1 [Option ID = 16501]
2. 2 [Option ID = 16502]
3. 3 [Option ID = 16503]
4. 4 [Option ID = 16504]

27) Arrange the following different types of computer networks in an ascending order on the

basis of geographical area implied.

(A) MAN
(B) WAN
(C) LAN

Choose the correct answer from the options given below :

H  (©.6).
(2) (A (©).®B)
(3 (C) A, (B)
(4) (B). (A). (©)

AT 400 1 STEW &0 7 (eAieTiEn F02gT G2l & (69 Wl i 3 376 ARE F8 ° e

(A) MAN
(B) WAN
(C) LAN

S faw 7o Tomred 5§ H81 309 1 999 hiTa ;

(I)y  (C). (B (A)
(2) (A (©). B
3 (O A ®
4 (B). A (©C)

[Question ID = 11627][Question Description = 132_00_General_47_0CT22_Q32]
1. 1 [Option ID = 16505]
2. 2 [Option ID = 16506]
3. 3 [Option ID = 16507]
4. 4 [Option ID = 16508]



28) @iven below are two statements with regard to websites :

Statement (I) : ‘Twitter' allows users to send small posts known as ‘tweets’ upto 140

characters in length.

Statement (IT} : By default. blogs display posts in chronological order on the home page

with the earliest post at the top.

In the light of the above statements. choose the correct answer from the options given

below :

(1) Both Statement (I) and Statement (IT) are true
(2) Both Statement (I) and Statement (II) are false
(3) Statement (I) is true but Statement (II) is false
(4) Statement (I) is false but Statement (II) is true

4= 2 oA feu T F 3 A F oA

F99 (D : foaer TR W 140 SE F Hi 9 O 8 o () w99 R s
Caite]
Foq (T0) fevrme =0 %, yaifys =@ (92) # 30 ° f2@W 30 =g B 99 W 9

FrerwAEan famEe 2

I FYE F A 8, A 5w fawen 1 F wE T F e A

(1)

(2)

(3)

(4)

Fe (I) AW (I0) =1 &ed 7
Fo () =i (1) ZE1 #590 &
9 (1) 73 2, =eea wem (1) w50 2

= (1) 3809 =, == 559 (1D 97 7

[Question ID = 11628][Question Description = 133_00_General_47_0CT22_Q33]
1. 1 [Option ID = 16509]
2. 2 [Option ID = 16510]
3. 3 [Option ID = 16511]
4. 4 [Option ID = 16512]



29)

With respect to RAM and ROM, which of the following statements are true?

(A)
(B)
(C)
(D)
(E}

ROM iz Real optical memory.

RAM stores the instructions you are currently working on.
ROM stores the BIOS.

RAM allows the user to read and write data.

Both RAM and ROM loze their data when the power is turned off.

Choose the correct answer from the options given below :

(1) (A), (D) and (E) only
(2)  (B), (C) and (D) only
(3) (A). (B) and (C) only
(40 (0, (D) and (E) only
W (RAM) 3% 79 (ROM) * 524 § F=iieiiea 51 4 =97 o5 27

(A)

(B) H HH I FAAE H R W1 T8 0 A gEAEA S SsiE w B|

(C)

T H TS 3] UH H HSIE A 2

(D) 9 TR F U AW oA S 2 R

E I B L e o it e = e e 7 e P e 1 e

(1)
(2)
(3)

4)

4 (A). (D) 3 (E)

et (B). (C) #7 (D)

=55 (A), (B) = (C)

=4 (C). (D) =117 (E)

[Question ID = 11629][Question Description = 134_00_General_47_0CT22_Q34]
1. 1 [Option ID = 16513]
2. 2 [Option ID = 16514]
3. 3 [Option ID = 16515]
4. 4 [Option ID = 16516]



30)

Match List I with List IT
LiatT List 1T
(Computer terms) {Description)
(A) Hub (I) Inputdevice
(B) Joystick (I) Operating system
(C) Notepad (ITI) Network device
() Android (IV) Text editor

Choose the correct answer from the options ziven below :

L (A-D, B)-dID, (C)«IV). (D)-ID)
(2) (A)-(III), (B)-(D), (C)-(ID), (D)-(IV)
(3) (A)-(ITD), (B)-(D. (C)-{IV). (D)-(ID
4 (AIV). (B)-D. (C)-(D. (D)-(II)

T T
(e g (i)

A == @D =9 fzamEs

(B) AaEE () sofe faem

(C) =TS (Il) === fzamsm

(D) TrEEs (IV) ZF= TR

= fom o faweg 8 98 = w1 =99 i

(1) (A)-(I). (B)-(IIL). (C)-(IV). (D)~«(ID)
(2) (A)-ID). (B)-(D), (C)-(ID). (D)-(IV)
(3) (A)-(IID), (B)-(D), (C)-(IV). (D)-(1I)
4) (A)-AV). B)-(I). (C)-(I). (D)-(ILL)

[Question ID = 11630][Question Description = 135_00_General_47_0CT22_Q35]
1. 1 [Option ID = 16517]
2. 2 [Option ID = 16518]
3. 3 [Option ID = 16519]
4. 4 [Option ID = 16520]

31)  In 2018. the Original Framework Agreement on establishment of International Solar
Alliance was amended to extend the scope of its membership to
(D All member statez of United Nations (2) The SAARC couniries

(3 Countries 1n the Middle-East (4) Countries in the Sub-Saharan Africa



T 2018 H ARTAS FHEE WHZ HE TEAEH SF SIS Jien TEEE H Heda FeeEa 5 "
e 10, =51 A9 & 5797 91 990 #94 & 190 @ T Y

(1) =% 7 % A g5e e (2) = =m
(3 w=EEFIT (4) =7 TR R F AW

[Question ID = 11631][Question Description = 136_00_General_47_0CT22_Q36]
1. 1 [Option ID = 16521]
2. 2 [Option ID = 16522]
3. 3 [Option ID = 16523]
4. 4 [Option ID = 16524]

32) Given below are two statements ;

Statement (I) :  Atmospheric stability is important because it determines the ability of
pollutants to disperse vertically in the atmosphere.

Statement (I[) : In summer season in India, the atmosphere is generally stable.

In the light of the above statements. choose the correct answer from the options given
below ;

(1) Both Statement (I) and Statement (II) are true
{2) Both Statement (1) and Statement (II) are false
(3) Statement (I) 1= true but Statement (IT) is false
{4) Statement (I) 1= false but Statement (II) 1s true

AT R B R

Fu7 (I) : AT TP SEeaE 2 FEIE SHE GEASE 3 UEEE 1 S g 3 e
AT a7 A

Fa3 (1) : T § U FE § AEATSE A T4 FE R

IHF FU9 F AT °, A9 160 70 faweT] 0 O 8] 307 o6 =9 i o

(1)  =w= (D) 91 (1) 541 &= 2
(2) = (D) =7 (D) == 53954 7
(3)  =wm (D) =4 7, 7w %95 (1) 594 =

(4)  wua () 99 2, = 599 (1) =79 7

[Question ID = 11632][Question Description = 137_00_General_47_0CT22_Q37]
1. 1 [Option ID = 16525]

2. 2 [Option ID = 16526]

3. 3 [Option ID = 16527]

4. 4 [Option ID = 16528]

33) Arsenic pollution in ground water is due to

(1) Oxides of arsenie (2) Sulphates of arsenic
(3) Acids of arsenie (4) Nitrates of arsenic

(1) = F AeaEs (2) A F g
(3)  EEE  w= 4) SEEE F AR



[Question ID = 11633][Question Description = 138_00_General_47_0CT22_Q38]
1. 1 [Option ID = 16529]
2. 2 [Option ID = 16530]
3. 3 [Option ID = 16531]
4. 4 [Option ID = 16532]

34) Identify the correct sequence of the following countries in respect of their ranking in
Sustainable Development Index 2020.

(A) China
(B) USA
(C) Brazil
(D) Russia
(E) India

Choose the correct answer from the options given below :

(1) D=B=A=E=C
(2) B=A=C=D=E
(3) B>A=D=>=C=E
(4) D>=B=A>C=E

#Ad {9 e 2020 ° T30 % SEn Heiaiad o @ GE FE J sgatead i
(A) =H

(B) #Ew T SHIE

(C) ==
D) ==
(E) 4rva
“/@ e T FEeT 5 | 5 I w99 F0an

(1) D=B=A=E=>C

(2) B=A=C=D=E

(3) B=A=D=C=E

(4) D=B=A=C=E

[Question ID = 11634][Question Description = 139_00_General_47_0CT22_Q39]
1. 1 [Option ID = 16533]
2. 2 [Option ID = 16534]

3. 3 [Option ID = 16535]
4. 4 [Option ID = 16536]



35)
What 1s the correct sequence of various components of biogas in terms of their abundance?

(A) Ammonia (NHz)
(B) Hydrogen Sulfide (H-S)
(C) Methane (CHy)

(D)  Carbon dioxide (CO2)

Choose the correct answer from the options given below :

(@8] B=D=A=C
{(2) C=D=A=>8B
(3) D=C=B=A

(4) C=D>B=A
AT 1 F1E H AN = = 9 AR F F Sqad Hie
(A)  smTFET (NH3)
(B) FEST TEEE (HaS)
(C) == (CHy)
(D) A AT (CO2)

9 T30 7 TEea 3 3 HEl 39 H 99 i

(1) B=D=A=C

(2) C=D=A=B

(3) D=C=B=A

(4) C=D=B=A
[Question ID = 11635][Question Description = 140_00_General_47_0CT22_Q40]
1. 1 [Option ID = 16537]
2. 2 [Option ID = 16538]

3. 3 [Option ID = 16539]
4. 4 [Option ID = 16540]

36) NITI Aayog is a/an
(1) Statutory hody of GOTL (2)  Autonomous body of GOT

(3) Advisory body to GOI (4) Executive body of GOIL



fifa s 2

(1) o7 HTRR F1 U Gifafas e (2) WHA HER U =EE HEw
(3)  O7E HIEN H Uk HeArEEn e (4) WA "R & v iy e

[Question ID = 11636][Question Description = 141_00_General_47_0CT22_Q41]
1. 1 [Option ID = 16541]
2. 2 [Option ID = 16542]
3. 3 [Option ID = 16543]
4. 4 [Option ID = 16544]

37) The University Grants Commission wag constituted on the recommendation of which of the
following?
(1) Mudaliar Commission (2) Sargent Commission
(3) Radha Erishnan Commission (4) Kothari Commission

et 8 5 e s w fAratasres SEE A w5 e e T

(L)  HEres AmEm (2) A= A
(3)  TETEUE AW (4) =FEE] AE

[Question ID = 11637][Question Description = 142_00_General_47_0CT22_Q42]
1. 1 [Option ID = 16545]
2. 2 [Option ID = 16546]
3. 3 [Option ID = 16547]
4. 4 [Option ID = 16548]

38) Given below are two statements :
Statement (I) :  Education for environment is a process of inquiry and action on real
environmental issues.

Statement (II) : Children are educated about environmental prohlems. equality and many
other 1ssues. without development of skills and attitudes to meet these
challenges,

In the light of the above statements. choose the correct answer from the options given
below :

(1) Both Statement (I)-and Statement (IT) are true
(2) Both Statement (I) and Statement (IT) are false
(3) Statement (I) 1s true but Statement (II) 12 false

(4) Statement (I) 1s false but Statement (IT) is true



o Fm ErmE

=561 (D) : T % fom (oA anEeia GEEE HEEnEl Ghl TG990 AR 39 FHEE o
T 7
Fa7 (ID) : T I TAEE TR, Al S0 wE e e # e e watan At

I FUH F AT H, A9 20 0 e 3 H Hel 39 & =1 I

(1)
(2)
3)

(4)

w5 (1) &1 (1) =41 == &

FoA (I) 3% (ID) 21 378 =

Foe (Iy 509 2, =i Fe (1) =0 7

FoA (1) |69 2, 506 99 (1D 57 2

[Question ID = 11638][Question Description = 143_00_General_47_0CT22_Q43]

1. 1[0
2. 2[0
3. 3[0
4. 4]0

39)

ption ID = 16549]
ption ID = 16550]
ption ID = 16551]
ption ID = 16552]

Match Ligt T with List I1:

ListI
(Article of Indian Constitution)
(A) 45

(B) 30
(C) 15(3)
(D) 239

(D

(IT)

(IIT) Right to

List 11
(Subject)
Empowering the state to make special

provisions for women and their
education
Responsibility of education

department of the Union Territories
under the Central Government

free and compulsory

education

(IV) Right of minocrities to establish and

administer education institutions

Choose the correct answer from the options given below :

(1) (A)-(IV). (B)-(IID. (C)-(II), M)-(D
(2) (A)-(IID). (B)-(IV). (C)«(I). (D))
(3) (A)-(ID), (B)-(D), (C)-(IV), (D)-(IIL)
(4) (A)-D). (B)-(III), (C)-(IT), (D)-IV)



T % =g T 7 e i

! 11T
(WA & Hiawm & T ) (ferg)
(A) 45 @O = & wfaenst sin 39k foian & fem
ferde FuEs i 1 HWHFN YaH w4
(B) 30 (ID %= HHE F dA=Pd H9 U9 51 & foan
faum =1 gifas
(C) 15(3) (I F-speeh 3 sfary foran & sl
(D) 239 (IV) $ias d@wem wafad &@ st gafad +3

Hadl HA HiE & ATER

5 et L = = i = o s e = e A

(1) (A)-(IV), (B)-(OI). (C)II). (D))

(2) (A)-(IOO). (B)-(IV), (C)-(I). (D)-{II)

(3) (A)-(ID). (B)-(I), (C)-(IV). (D)-(III)

(4) (A)-(@). (B)-(IID). (C)-(ID). (D)-(IV)
[Question ID = 11639][Question Description = 144_00_General_47_0CT22_Q44]
1. 1 [Option ID = 16553]
2. 2 [Option ID = 16554]

3. 3 [Option ID = 16555]
4. 4 [Option ID = 16556]

40) Match List I with List IT:

ListI ListIT
(Institutes of National Importance) (Locations)
(A) National Institute of Design (I).: ' Mghali

(B) National Institute of Pharmaceutical (II) Ahmedabad
Edueation and Research

(C) Vishvesaraya National Institute of (III) Vijayawada
Technolozy

(D) School of Planning and Architecture {IV) Nagpur

Choose the correct answer from the options given below :

(1) (A)-(@). (B)AIID). (C)-(IV). (D)-(ID)
(2) (AR, B)-IV). (C)-(ID). (D)-(D
(3)  (A-IV). (B)-(III). (C)-(D. (D)-(ID
(4) (A)-(ID), (B)-(D. (C)-(IV). (D)-(III)



-1 % Trd geEi-I1 =7 e Fiee

11 o111
(I uEv & HEH) (T2174)
(A)  F9F Fzge AT e (D =
(B) 9 A TR TEgea taheE us (I sEEEEE
freg

(C) Tavamia Fome Sfezege AT Zier= (IID Trarst

Fr= fau o fomeem @ @ WA 3 =Ae AFiaw

(1 (A)-(D), (B)~(III). (C)-(IV). (D)(II)
(2) (A)-(IID). (B)-(IV). (C)-(II). (D)-(I)
(3) (A)-(IV). (B)-(ILI), (C)-(I). (D)-(1I)
(4) (A)-(ID). (B)-(D). (C)-(IV). (D)-(I1D)

[Question ID = 11640][Question Description = 145_00_General_47_0CT22_Q45]
1. 1 [Option ID = 16557]
2. 2 [Option ID = 16558]
3. 3 [Option ID = 16559]
4. 4 [Option ID = 16560]

Topic:- 11_GP_SH1_S1_C



1)

Read the following passage and answer questions from 46 to 50.

The wastage of food 1s substantial in every country. but some studies have shown that it is
more gerious in developing countries. The UNFAO had estimated that one-third of all
produced food may be getting wasted. The world produces twice the amount of food that is
needed, but large numbers of people are deprived of it due to wastage and other reasons.
Food gets wasted at the farm., when it moves to the market and is processed, stored and
shifted to shops. and finally in the ktchen. Many fruits and vegetables perish soon after
harvesting. There 1s a need to improve production and stordge practices. transport and
infrastructure. cold chain systems and processing techniques. Modern technologies and
packaging methods are needed. But even in countries where these facilities are awvailable,
wastage 1s high. So, the most important requirement is to improve popular awareness of the
need to ensure that food is not wasted in any form. at any stage. China has launched a clean
plate campalgn against wastage. It 1s estimated that food worth at least Rs. 1 lakh crore 1s
wasted in India, and thiz does not include wastage of cooked food. A paxt of that should be
enough to feed the larger numbers of hungry people in the country. which is ranked 94 out of
107 countries in the global hunger index. Food 1= wasted massively at weddings and on other
occazions. The Delhi Government had, in pre-Covid times, thought of restricting the number
of guests at weddings to reduce wastage of food. The UN report says that reducing food waste
would also cut greenhouse gas emissions and slow the destruction of nature through land
conversion and pollution. Avoiding food wastage should therefore became a national mission.
It will have very positive environmental, social and economic impacts, In India, it 1s stated
that the household food wastage is 50 kg per capita per year. which is less than in countries
like the US and China. It is not because of efficient use of food. because of overall availability
of food.



faeifafan T9 #1 ug 3 999 1. &1 IW 3

@rE | ATl g9 0 sk w ) e R, Fhe g sveEs @vitd # TR ge Auen fasraeiie gun
ﬁﬂfﬁﬂfn%lwﬂwaﬁ%ﬁmiﬁmwﬂmwwﬁﬂémdﬁm?l%ﬁ AT AN
&1 G Wi FegA w2, fb e R s arend s s w8 adl den 4w oA @ dtaa 3
wre verd ) el w0 A 2, T T A S S A 2, S s e A 2, e
wer) fem S 2, 32 gFET A I e B 3R s A v A sadhl avard] 26 2 A A e s
afeqdl I % vEE AR WA A A A IETE 3 e ygieEl, giee ve s, #ies |9
yuiref] il wHTE qeTHl 8 guT e e L smavgsa 2) anyfe gt i GG Rl 6
WravEFA 71 =, 59 o0 9 g glaan ageres off 8, 971 9 @ & aad wetas 2 o, gaffas
EEl 97 # & 39 AEvasm & uld SrmeEd I30E S AW AT 98 giafeaa fEm o g f6 e o
=y 4 T off v w e 1 FEmrd 3 8 S99 3 g aEmd & 9Eg wlE e sfeam smy e 2
47 A9 ? o WWd 0 @M # al | dng s B0 e o e sl gl @l B, 39H v B e ol
I wTeA A1 21 Hehl ek upl, @2 dem 4 99 & q@ @R %) Y9E #E] 2q v 2, 91 e afvas
W@ gaEE 4 107 <9 fl gl 0 044wy w3 sl 3 3= sEe W oErE 6 e W
wardl 2t 21 fegdl wewn 3, #ifaz-gd v § @ B wmd w9 G & fen afed O feyeE F e
&1 uigaiad &1 fen an gua foie 4 3g@ 2 e mma & e % 99 9H | fiH9ere W E I
off @fl smefi siv wfy gfrads o g & gregn 8 gafa & faam i afg o dedt 2ol safen, am
qrEEl TR T8 fovE 99 T 2 EeR WRgA HeRRTEHE ST, Hriiaes 31 e gare w0
agradr 2 T vma 8, ufa o ufd saf 50 fen @1 a0 @ wad) 26 2, o fr gue s <m o e
H %Y 2| 98 W & HEeE I % HW0 AH 2 4fEw | 4 5uy 3ued) & w1 2

A major fall out of enormous amount of food wastage 1s
(1) More food production
(2) Uneven access to market

(3) Large number people going hungry
(4) More investment in the farm sector of developing countries

ST W 0T avErel @ g 2 R

(1 T @ I

(2)  =ET R A T

(3) wEEEnE g am

(4)  Tawrsle S 4w A u ates FEm

[Question ID = 11641][Question Description = 146_00_General_47_0CT22_Q46]
1. 1 [Option ID = 16561]
2. 2 [Option ID = 16562]

3. 3 [Option ID = 16563]
4. 4 [Option ID = 16564]



2)

Read the following passage and answer questions from 46 to 50.

The wastage of food 1s substantial in every country. but some studies have shown that it is
more gerious in developing countries. The UNFAO had estimated that one-third of all
produced food may be getting wasted. The world produces twice the amount of food that is
needed, but large numbers of people are deprived of it due to wastage and other reasons.
Food gets wasted at the farm., when it moves to the market and is processed, stored and
shifted to shops. and finally in the ktchen. Many fruits and vegetables perish soon after
harvesting. There 1s a need to improve production and stordge practices. transport and
infrastructure. cold chain systems and processing techniques. Modern technologies and
packaging methods are needed. But even in countries where these facilities are awvailable,
wastage 1s high. So, the most important requirement is to improve popular awareness of the
need to ensure that food is not wasted in any form. at any stage. China has launched a clean
plate campalgn against wastage. It 1s estimated that food worth at least Rs. 1 lakh crore 1s
wasted in India, and thiz does not include wastage of cooked food. A paxt of that should be
enough to feed the larger numbers of hungry people in the country. which is ranked 94 out of
107 countries in the global hunger index. Food 1= wasted massively at weddings and on other
occazions. The Delhi Government had, in pre-Covid times, thought of restricting the number
of guests at weddings to reduce wastage of food. The UN report says that reducing food waste
would also cut greenhouse gas emissions and slow the destruction of nature through land
conversion and pollution. Avoiding food wastage should therefore became a national mission.
It will have very positive environmental, social and economic impacts, In India, it 1s stated
that the household food wastage is 50 kg per capita per year. which is less than in countries
like the US and China. It is not because of efficient use of food. because of overall availability
of food.



faeifafan T9 #1 ug 3 999 1. &1 IW 3

@rE | ATl g9 0 sk w ) e R, Fhe g sveEs @vitd # TR ge Auen fasraeiie gun
4 wifer M R QUATEUS] & Y & SHR w0y =@ # o e sad 2 e 2 fava, smEvgel
*1 GFI w3 i 2, T wre i g aerd st s i 8 adl e § | a3 dfa
w|re Jerd 1 WA GAi 0 F7 8, 99 3% AN 0 | A A 2, 3 THER e e 3, 39
wzp fEm a2, ﬁmﬁamm?aﬁrﬂnm@mnzﬂdﬂm@?ﬁélﬁanwaﬁ
afeqdl I % vEE AR WA A A A IETE 3 e ygieEl, giee ve s, #ies |9
YuiTef] S ST deTE] 8 gar feu w L savged &) syl drnfien i Swhm fafegi 4
WravEFA 71 =, 59 o0 9 g glaan ageres off 8, 971 9 @ & aad wetas 2 o, gaffas
EEl 98 2 6 38 smavasa & 9fd Srmedl 30T @l S A1 38 e 1 E5e R o
=y 4 T off v w e 1 FEmrd 3 8 S99 3 g aEmd & 9Eg wlE e sfeam smy e 2
47 A9 ? o WWd 0 @M # al | dng s B0 e o e sl gl @l B, 39H v B e ol
arardl snfae 48 21 sHe vw uw, 21 HEn d 99 ok e @i o) U sl Bq vam 2, A fa afeas
W@ gaEE 4 107 <9 fl gl 0 044wy w3 sl 3 3= sEe W oErE 6 e W
wardl 2t 21 fegdl wewn 3, #ifaz-gd v § @ B wmd w9 G & fen afed O feyeE F e
&1 uigaiad &1 fen an gua foie 4 3g@ 2 e mma & e % 99 9H | fiH9ere W E I
off @fl smefi siv wfy gfrads o g & gregn 8 gafa & faam i afg o dedt 2ol safen, am
qraTdl okl TehA1 U fove a9 0 2 ek RSd HeRRTeYsh WA, warfas sin il gaa 26
agradr 2 T vma 8, ufa o ufd saf 50 fen @1 a0 @ wad) 26 2, o fr gue s <m o e
q % 2| T2 = & FIE IEN F F00 AF 2 alew @ 6 quy ST & w56 )

What are the measures suggested to reduce food wastage?
(A)  Better storage and transport facilities
(B) Establishment of cold chain systems

(C) Cl-_:ssure of points of food wastage

(D)  Restriction on weddings

Choose the correct answer from the options given below ;

(1) (A) and (B)
()  (B)and (C)
(3  (C)and (D)

4 (A)and (D)



(A) #EAT HEE AR UiEEd SEEm
(B) =z = wofer 1 T
(C) Tame el = TagaT w1 5% Fe
(D) =i FATTE W A

1= f2u Tu faEEeT | A wE 3 == A

(1) (A) 741 (B)
(2) (B) 74 (C)
(3) (C) 741 (D)

4 {A)@9 (D)

[Question ID = 11642][Question Description = 147_00_General_47_0CT22_Q47]
1. 1 [Option ID = 16565]
2. 2 [Option ID = 16566]
3. 3 [Option ID = 16567]
4. 4 [Option ID = 16568]



3)

Read the following passage and answer questions from 46 to 50.

The wastage of food 1s substantial in every country. but some studies have shown that it is
more gerious in developing countries. The UNFAO had estimated that one-third of all
produced food may be getting wasted. The world produces twice the amount of food that is
needed, but large numbers of people are deprived of it due to wastage and other reasons.
Food gets wasted at the farm., when it moves to the market and is processed, stored and
shifted to shops. and finally in the ktchen. Many fruits and vegetables perish soon after
harvesting. There 1s a need to improve production and stordge practices. transport and
infrastructure. cold chain systems and processing techniques. Modern technologies and
packaging methods are needed. But even in countries where these facilities are awvailable,
wastage 1s high. So, the most important requirement is to improve popular awareness of the
need to ensure that food is not wasted in any form. at any stage. China has launched a clean
plate campalgn against wastage. It 1s estimated that food worth at least Rs. 1 lakh crore 1s
wasted in India, and thiz does not include wastage of cooked food. A paxt of that should be
enough to feed the larger numbers of hungry people in the country. which is ranked 94 out of
107 countries in the global hunger index. Food 1= wasted massively at weddings and on other
occazions. The Delhi Government had, in pre-Covid times, thought of restricting the number
of guests at weddings to reduce wastage of food. The UN report says that reducing food waste
would also cut greenhouse gas emissions and slow the destruction of nature through land
conversion and pollution. Avoiding food wastage should therefore became a national mission.
It will have very positive environmental, social and economic impacts, In India, it 1s stated
that the household food wastage is 50 kg per capita per year. which is less than in countries
like the US and China. It is not because of efficient use of food. because of overall availability
of food.



faeifafan T9 #1 ug 3 999 1. &1 IW 3

@rE | ATl g9 0 sk w ) e R, Fhe g sveEs @vitd # TR ge Auen fasraeiie gun
ﬁﬂfﬁﬂfn%lwﬂwaﬁ%ﬁmiﬁmwﬂmwwﬁﬂémdﬁm?l%ﬁ AT AN
&1 G Wi FegA w2, fb e R s arend s s w8 adl den 4w oA @ dtaa 3
wre verd ) el w0 A 2, T T A S S A 2, S s e A 2, e
wer) fem S 2, 32 gFET A I e B 3R s A v A sadhl avard] 26 2 A A e s
afeqdl I % vEE AR WA A A A IETE 3 e ygieEl, giee ve s, #ies |9
yuiref] il wHTE qeTHl 8 guT e e L smavgsa 2) anyfe gt i GG Rl 6
WravEFA 71 =, 59 o0 9 g glaan ageres off 8, 971 9 @ & aad wetas 2 o, gaffas
EEl 97 # & 39 AEvasm & uld SrmeEd I30E S AW AT 98 giafeaa fEm o g f6 e o
=y 4 T off v w e 1 FEmrd 3 8 S99 3 g aEmd & 9Eg wlE e sfeam smy e 2
47 A9 ? o WWd 0 @M # al | dng s B0 e o e sl gl @l B, 39H v B e ol
I wTeA A1 21 Hehl ek upl, @2 dem 4 99 & q@ @R %) Y9E #E] 2q v 2, 91 e afvas
W@ gaEE 4 107 <9 fl gl 0 044wy w3 sl 3 3= sEe W oErE 6 e W
wardl 2t 21 fegdl wewn 3, #ifaz-gd v § @ B wmd w9 G & fen afed O feyeE F e
&1 uigaiad &1 fen an gua foie 4 3g@ 2 e mma & e % 99 9H | fiH9ere W E I
off @fl smefi siv wfy gfrads o g & gregn 8 gafa & faam i afg o dedt 2ol safen, am
qrEEl TR T8 fovE 99 T 2 EeR WRgA HeRRTEHE ST, Hriiaes 31 e gare w0
agradr 2 T vma 8, ufa o ufd saf 50 fen @1 a0 @ wad) 26 2, o fr gue s <m o e
H %Y 2| 98 W & HEeE I % HW0 AH 2 4fEw | 4 5uy 3ued) & w1 2

The clean plate campaign indicates the need for to reduce food wastaze.
(1) Strict pumshment (2) Public awareness

(3 New processing technigues (4y TImproved packaging methods

FA T2 ATGAT G SEE] ] A =1 AT ® Al 2

(1) =+ (2) =7 FFEFE

(8) A9 yEEE AEAT 4y Za TEba T

[Question ID = 11643][Question Description = 148_00_General_47_0CT22_Q48]
1. 1 [Option ID = 16569]
2. 2 [Option ID = 16570]
3. 3 [Option ID = 16571]
4. 4[Option ID = 16572]



4)

Read the following passage and answer questions from 46 to 50.

The wastage of food 1s substantial in every country. but some studies have shown that it is
more gerious in developing countries. The UNFAO had estimated that one-third of all
produced food may be getting wasted. The world produces twice the amount of food that is
needed, but large numbers of people are deprived of it due to wastage and other reasons.
Food gets wasted at the farm., when it moves to the market and is processed, stored and
shifted to shops. and finally in the ktchen. Many fruits and vegetables perish soon after
harvesting. There 1s a need to improve production and stordge practices. transport and
infrastructure. cold chain systems and processing techniques. Modern technologies and
packaging methods are needed. But even in countries where these facilities are awvailable,
wastage 1s high. So, the most important requirement is to improve popular awareness of the
need to ensure that food is not wasted in any form. at any stage. China has launched a clean
plate campalgn against wastage. It 1s estimated that food worth at least Rs. 1 lakh crore 1s
wasted in India, and thiz does not include wastage of cooked food. A paxt of that should be
enough to feed the larger numbers of hungry people in the country. which is ranked 94 out of
107 countries in the global hunger index. Food 1= wasted massively at weddings and on other
occazions. The Delhi Government had, in pre-Covid times, thought of restricting the number
of guests at weddings to reduce wastage of food. The UN report says that reducing food waste
would also cut greenhouse gas emissions and slow the destruction of nature through land
conversion and pollution. Avoiding food wastage should therefore became a national mission.
It will have very positive environmental, social and economic impacts, In India, it 1s stated
that the household food wastage is 50 kg per capita per year. which is less than in countries
like the US and China. It is not because of efficient use of food. because of overall availability
of food.
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Food wastage also causes

(1) The rich-poor divide (2) Increase in contagious diseases
(3) Harvest 1ssues (4) Environmental pollution

(1) - s (2) = T A g
(3) T wEd mEE= (4) T T
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5)

Read the following passage and answer questions from 46 to 50.

The wastage of food 1s substantial in every country. but some studies have shown that it is
more gerious in developing countries. The UNFAO had estimated that one-third of all
produced food may be getting wasted. The world produces twice the amount of food that is
needed, but large numbers of people are deprived of it due to wastage and other reasons.
Food gets wasted at the farm., when it moves to the market and is processed, stored and
shifted to shops. and finally in the ktchen. Many fruits and vegetables perish soon after
harvesting. There 1s a need to improve production and stordge practices. transport and
infrastructure. cold chain systems and processing techniques. Modern technologies and
packaging methods are needed. But even in countries where these facilities are awvailable,
wastage 1s high. So, the most important requirement is to improve popular awareness of the
need to ensure that food is not wasted in any form. at any stage. China has launched a clean
plate campalgn against wastage. It 1s estimated that food worth at least Rs. 1 lakh crore 1s
wasted in India, and thiz does not include wastage of cooked food. A paxt of that should be
enough to feed the larger numbers of hungry people in the country. which is ranked 94 out of
107 countries in the global hunger index. Food 1= wasted massively at weddings and on other
occazions. The Delhi Government had, in pre-Covid times, thought of restricting the number
of guests at weddings to reduce wastage of food. The UN report says that reducing food waste
would also cut greenhouse gas emissions and slow the destruction of nature through land
conversion and pollution. Avoiding food wastage should therefore became a national mission.
It will have very positive environmental, social and economic impacts, In India, it 1s stated
that the household food wastage is 50 kg per capita per year. which is less than in countries
like the US and China. It is not because of efficient use of food. because of overall availability
of food.



freifafan Tis &1 v sin uw |, % I A

@rE | ATl g9 0 sk w ) e R, Fhe g sveEs @vitd # TR ge Auen fasraeiie gun
4 wifer M R QUATEUS] & Y & SHR w0y =@ # o e sad 2 e 2 fava, smEvgel
*1 GFI w3 i 2, T wre i g aerd st s i 8 adl e § | a3 dfa
a1 verd & WA wdl 0 76 8, 99 3 AEn 4 o J0 A 8, 3% THEE fERn S 2, 39
wzp fEm a2, ﬁmﬁamm?aﬁrﬂnm@mnmmﬁ?ﬁ%lﬁﬁﬂmaﬁ
affidi TE % TEE AR A F A 3| Iered 3R sz yghei, shae vd s, e 9l
YuiTef] S ST deTE] 8 gar feu w L savged &) syl drnfien i Swhm fafegi 4
WravEFA 71 =, 59 o0 9 g glaan ageres off 8, 971 9 @ & aad wetas 2 o, gaffas
EEl 97 # & 39 AEvasm & uld SrmeEd I30E S AW AT 98 giafeaa fEm o g f6 e o
=y 4 T off v w e 1 FEmrd 3 8 S99 3 g aEmd & 9Eg wlE e sfeam smy e 2
47 A9 ? o WWd 0 @M # al | dng s B0 e o e sl gl @l B, 39H v B e ol
A wfad A8 21 e v W, 92 He H G % g @ ol 5 w1 Ad T 2, S fn afen
W@ gaE 4 107 <8l F g 0 949 wuH | 3| wnfedl 30 9= sEE W oEE f s s W
wardl 2t 21 fegdl wewn 3, #ifaz-gd v § @ B wmd w9 G & fen afed O feyeE F e
&1 uigaiad &1 fen an gua foie 4 3g@ 2 e mma & e % 99 9H | fiH9ere W E I
i @i smofi i qfy giEda o g & grem § gl & fam o afa O dedt Jef gEfem, am
qraTdl okl TehA1 U fove a9 0 2 ek RSd HeRRTeYsh WA, warfas sin il gaa 26
AT 2 o uma o, wid ad ufd safe 50 T o o) w26 2, o 6 gu s 99 g
H %9 3| 92 W F FHA I F F0 AF 2 Aok @ F) T TS & 5 2

Stoppage of food wastage is needed in the interest of
(1) Food production
'24) National foed mission
(3 Bring down the number of countries in Global Hunger Index
(4 Makinge food available to all
Eoe e | e DR o e = O o A
(1) =T 35EA
(2) T @ meE
(3)  dfva= g g § 290 i WA H wE we
(4) =i % o wreE seem FE
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